- S>
MGV Brakes

Quostdsits

MASTER CATALOG

ORNMNUSOUOUS S

pR—— P :






ABOUT MGM BRAKES
A little bit of history...

For over 60 years, MGM Brakes has been a leader in commercial vehicle actuator technology, providing service chambers and spring
parking brakes engineered to operate in the harshest environments.

In 1956, when heavy over-the-road vehicles, lacking a reliable air-brake backup device, were experiencing air system failures, MGM’s
founders came up with an innovative solution to this industry safety problem; designing and patenting the first spring parking brake.
Their innovation achieved worldwide acceptance as a simple solution to a serious problem that had plagued the transportation industry
for decades.

MGM Brakes rapidly progressed from its humble origins to industry-leader status, developing drum and air disc actuators designed to
address the operational requirements and varied environments of all segments of the commercial vehicle industry.

Keeping safety at the forefront, MGM began to focus on advanced technologies for the pre-trip inspection. To help with this daily task,
MGM designed and patented, e*STROKE?®, electronic brake monitoring systems for drum and air disc brakes. These systems help
with verifying proper brake setup and operation on commercial vehicle brake actuators, as well as provide continuous real-time brake
monitoring on any air brake equipped vehicle.

Whichever MGM Brakes product you select, you'll be getting the best product designed and manufactured by the acknowledged
worldwide leader.

,/Bm?anﬁm_,

Ron Parker
Chairman, President and CEO

Corporate Office

For technical assistance, pricing information or special requests, contact MGM Brakes Corporate Office:

MGM Brakes * 6200 Harris Technology Blvd. ¢ Charlotte, North Carolina 28269
Toll Free Phone: (800) 527-1534 « Phone: (704) 547-7411 « Fax: (704) 547-9367

e-mail: mail@mgmbrakes.com * website: www.MGMBrakes.com

ISO 9001:2015 ISO 14001:2015

Visit our website for more information...
www.mgmbrakes.com

Your comprehensive source for MGM Brakes products and company information.

+ e*Commerce is available on our website.

+ Order publications/CD’s on-line - FREE, with our product literature request form. (shipping charges apply outside U.S. and Canada)
+ Customer portal allows easy access for customers to check order status, view pricing and promotions.

+ Easy cross reference for part numbers.

+ Live Chat feature allows you real time communication with our knowledgable customer service representatives.

+ Pay invoices online via credit card.



MGM BRAKES FACILITIES

Parts Distribution Centers

MGM Brakes - PDC MGM Brakes - PDC MGM Brakes - PDC

U.S.A. Parts Distribution Center Canadian Parts Distribution Center European Parts Distribution Center

1100 N. Glenstone, Suite 170 2340 Winston Park Drive Rotterdam-Maasvlakte

Springfield, Missouri 65802 Unit #3 Makassarweg 1 3199 LL

Toll Free Phone: (877) 294-5906 Oakville, ON L6H 7T7 Rotterdam, The Netherlands

Toll Free Fax: (877) 294-6316 Canada Phone: +31-181-251.152

Phone: (417) 862-0092 Email: maasvlakte@broekmanlogistics.com
Fax: (417) 862-7850 Toll Free Phone: (877) 294-5906

e-mail:pdc@mgmbrakes.com Phone: (417) 862-0092

= Toll Free Fax: (877) 294-6316
Fax: (417) 862-7850
e-mail:pdc@mgmbrakes.com

1SO 9001:2015

Manufacturing Plants

MGM Brakes MGM Brakes

Murphy - Manufacturing Plant Cloverdale - Manufacturing Plant
P.O. Box 70 P.O. Box 249

229 Park Avenue 1184 South Cloverdale Blvd.
Murphy, North Carolina 28906 Cloverdale, California 95425
Phone: (828) 837-2117 Phone: (707) 894-3333

Fax: (828) 837-7521 Fax: (707) 894-5704

Toll Free Fax: (800) 258-8117 Toll Free Fax: (800) 266-5750

1SO 9001:2015

International Sales

1SO 14001:2015 1SO 9001:2015 1SO 14001:2015

1))
¥
3
(a0)
=
O
=
O
4
-]
[ 4
Ll
o
(a4
@

MGM BRAKES - CANADA/INTERNATIONAL MGM BRAKES - MEXICO, CENTRAL AND SOUTH MGM BRAKES - EUROPE

TBD AMERICA Cees vanLeipsig
Len Gonzalez Technical Sales Account Manager - Europe
National Sales Manager - Vocational Markets E-mail: cvanleipsig@mgmbrakes.com

E-mail: Igonzalez@mgmbrakes.com

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

1
WWW.MGMBRAKES.COM




@ INDEX

Page(s)
Part Number/Model Designation Charts. ............cceeuirienncere e 6-9
Understanding MGM Brakes Part NUMDETS ..........c.viiiiririincseeiscieeisse st sssnees 9
SECHON 15 S-CAMBIAKES .........covcvviciecc et 10-75
Corrosion FIGNEr TECANOIOGY ........c.evueuiuriieieieiieireieeet ettt 16
Industry Safety Reminder - Danger of Double Clamp Banded Spring Brakes.............cccovninneninnsnininensnnneens 17
TR Standard Stroke Models
TR TaMPEr RESISIANT.......co.cviieeiieetee bbbt 18-19
TR-HD Tamper Resistant, HEavy-DULY ..........ccvini s 20-21
TR-HDW Tamper Resistant, Heavy-Duty, Welded NPC............ccoooriiinineeneeeseeeseeeis 22-23
TR-T Tamper ReSIStant, TUDE ..........cciuei et 24-25
TR-THD Tamper Resistant, Tube, HEavy-DULY ... 26-27
TR-THDW Tamper Resistant, Tube, Heavy-Duty, Welded NPC............ccooenirrmninireeenseeisseneis 28-29
TR-TS Tamper Resistant, TUDE, SEVEIE SEIVICE.........vvvirrrrieirrrrrree e 30-31
TR-TSHD Tamper Resistant, Tube, Severe Service, HEavy-Duty..........cccoevvviirinineieenieeseeeis 32-33
TR-TSHDW Tamper Resistant, Tube, Severe Service, Heavy-Duty, Welded NPC ...........cccocvvnininninns 34-35
TR Long Stroke Models
TR-LP3/TR-L3  Tamper Resistant, LONG StrOKE..........cccoeuririeirinieiienieseece st 36-37
TR-LP3HD Tamper Resistant, Long Stroke, Heavy-DUty ..o 38-39
TR-LP3T/TR-L3T Tamper Resistant, Long Stroke, TUDE..........ccoeririeirinieneniesesieise e 40-41
TR-LP3THD Tamper Resistant, Long Stroke, Tube, Heavy-DUty...........ccovenirenineneeeneeeseeeis 42-43
TR-LP3THDW  Tamper Resistant, Long Stroke, Tube, Heavy-Duty, Welded NPC ............cccoovvivieininiennnn. 44-45
TR-LP3TS Tamper Resistant, Long Stroke, Tube, SEVEre SEIVICE .......covverrirriieereereees s 46-47
TR-LP3TSHD  Tamper Resistant, Long Stroke, Tube, Severe Service, Heavy-Duty ..........cccocovevierneiniennen. 48-49
TR-LP3TSHDW Tamper Resistant, Long Stroke, Tube, Severe Service, Heavy-Duty, Welded NPC................ 50-51
LTR Standard Stroke Model
LTR-T Integral Release Bolt, Tamper Resistant, TUDE...........cccovierienicrcree e 52-53
LTR Long Stroke Models
LTR-L3 Integral Release Bolt, Tamper Resistant, Long Stroke ..o, 54-55
LTR-L3W Integral Release Bolt, Tamper Resistant, Long Stroke, Welded NPC .........c.cccoooovvvvinininnen. 56-57
LTR-L3T Integral Release Bolt, Tamper Resistant, Long Stroke, Tube. ........ccccvvvvvierncrnicescenn, 58-59
LTS Integral Release Bolt, Tamper Resistant, Long Stroke, TUDE .........ccovvieirinieneniesenen, 60-61

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM




INDEX

Page(s)
MJS Standard Stroke Model
MJS Magnum J-Series, 1.75” StroKe, TUDEB........cccvicueiicees et s 62-63
MJS Long Stroke Model
MJS Magnum J-Series, 3.00" StroKe, TUDE........covrirerreeees ettt 64-69
Service Chamber - Standard Stroke Model
C S M eSS s bbbt n et 70-71
Service Chamber - Long Stroke Models
CL 07 4 4T 1[0 (- T 72-73
CS S Cam, LONG StroKe, SEAIEA...........ccevriireisiceeiect et 74-75
Section 2:  Wedge SPrNG Brakes .............cuuiiiiiiiiiciiei ettt 76-83
Cw Wedge SErviCe ChamDET ..o 78-79
MJW MJW1216AT/MJW1616AT Magnum Performance Plus, Wedge 1.75” (44.5 MM)......ccocovennnnennnenieieens 80-81
MJW MJW1624BT Magnum Performance Plus, Wedge 2.00” (50.8 MM).......coeurierreininreininns oo 82-83
SECHON 3:  AIF DISC BraKES.........ceoceucecereecircieiei ettt 84-89
Service Chambers
CSB Sealed SEIVICE ChAMDET ..ottt ettt es et ees s seens 86
Double Diaphragm
TRB Tamper RESISTANT, TUDE. .........oiiiciciciccssecc e ettt bbb n b e 87
Piston Diaphragm
MJB Magnum, J-Series, 2.50” (63.5 MM) SrOKE, TUDE ........ceuriieririierce ettt 88
Visual Safety InSpections Of A DISC BraKES ..........euieiriiiiriiicieieces et e 89

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

3
WWW.MGMBRAKES.COM




Section 4: RemMOte MOUNE CYINABS ..ottt 90-95
R4A REMOLE MOUNE CYIINAET ...t 92-93
RSAHD  Remote Mount Cylinder, HEAVY-DULY.........cc ittt 92-93
R7A Remote Mount Cylinder, Spring Applied - Air REIBASE .........ciuriieiieriere ettt 94
R8H R7A & RBH SEIVICE PAIS......... vt 95
SECHON 52 VOCAHONAL............ouiiieiii et 96-105
MOAEI APPLICALION CRAM ... ...t 98
Actuators Manufactured with Neoprene DIapRragms...... ..ottt 99
MGM Waste Chamber Breakdown Sheet with Neoprene Diaphragms ... 100
MGM Waste Chamber Breakdown Sheet with Natural Rubber DIiaphragms ..........coceerernirrneeisseee e eseesenas 101
Welded Yoke Replacement INSIUCHION. ..ot 102
Welded YOkes APPlICAtION GUILE.............ccciuiiiiiieeieecccce ettt ettt bbbttt s s 104-105
Section 6: SPeCIAl APPIICAHONS. ...t 106-113
SPECIAl LENGLN PUSN ROAS ..ottt bbbt 108
Hendrickson Intraax and Vantraax Suspension APPlICAtIONS ...........ccccciceeeiiiisicccce st 109
12" and 18" Extended Length PUSN ROGS ... 10
SCHOOI BUS ADPPIICALIONS ...ttt bbb bbbttt bbb s s bbbt b b b s s bbbt ebe bbbt as s e ae bt baee 112
Fire TrUCK APPIICATIONS .......eueeeeiis ettt bbbt 13
Section 7: Road Truck Chamber APPIICALIONS ...............ciiiiiiriiire s 114-115
Tractor/Trailer Quick Reference Chamber Replacement GUIAE...........c..cuiueiieiierieiririeseeee ettt 115
Section 8: e*STROKE® Brake Monitoring SYSIEMS............cccooviieiiieicisiecee et 116-131
IEFOAUCHION. ... bbb bbbt 118
HOW ©0STROKE® WOTKS........oceuceeerceneeseceeeseeeeeseeeseesseese st sseseseesesesess s s s s bbbttt 119-120
€2 STROKE® SPECIHICAONS. . ... veoeeecerreeeeeeiseiseee ettt e se et se e s e bbbt n s en s 122
€ STROKE® DIAQNOSHCS .......vvviveiiitsiiitetctse ettt s bbb bbb bbbt 123
€*STROKE® TraiNiNg NG SUPPOM. .......vuurererreeeeeeeeeseeetesesse s sss st ssssssssssssssssssssssssessesssssesssssesssssessassssassssssssssssssssssssssssnssns 125-127
e*STROKE® System Parts - ECU Power and AUXIlIary CableS ...........c.oviuiuiiiieicieese ettt 128
e*STROKE® System Parts - Actuator SENSOrS and HAMESSES ...t sssssssssssss e sssssessnssans 128
e*STROKE® System Parts - Pressure Transducer and HAMESSES...........cuueuiuivcieieieie ettt 129
€*STROKE® System Parts - GEN 3 ECU'S .......cuieriririeisie sttt sttt sttt st ssensans 130
e*STROKE® System Parts - ECU Replacement SErVICE KifS.............ovueiuriuriuiiiiieiciceis ettt 130
€*STROKE® System Parts - DIagNOSHC TOOIS ..........cuurvrerririreirririensisensessensessessessssessssessssse s sssssessssssssssssssssssssssssessessessessessessassons 131
Section 9: REPIACEMENE PAMS ...t 132-139
Kits - Breather Cap, End Cap & WeatherSEal™ PlUQ...........cer ettt ettt 134
Diaphragms, Kit - Release Bolt, Clamp BandS...........ciurriirinicneer e 134
Kits - S-Cam Protective Boots & Center Hole Shield, Breather Tube and EIDow Kit.............coooeiioiieiieiccieeeet e 135
KitS = NUES @NA WASRELS, ..ottt ettt et sttt st se st et e e e e be st et e se st easstete et ebe st et essstessstetessete s steseatenssentens 135
Non-Pressure Chamber (With and Without Breather EIbow), VENt HOIE = PIUG ........ccvvrvriieicirieierceesse e 135
WEIAEA YOKE ASSEIMDIIES ...ttt bbbt 136
Welded Yoke Assemblies (continued), Yoke Pins (StainleSs STEEI) .......c.vurveiieriieiiirieesce ettt 137
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
4

WWW.MGMBRAKES.COM




INDEX

Yoke AsSeMDIIES, YOKE ASSEMDIIES = 2 PN ..ottt et sttt sttt et eae s st sttt et e s ettt atenens 138
Push-Rod ASSEMDIY @NA NUE KIES.........cuieeiiceee ettt e bbbt et 139
Section 10: Technical INFOMMELON. ...t 140-165
MJS Service Diaphragm REPIACEMENL............cuiuiiriiirieii et s 142
Product 1dentifiCation PIALE.............co ettt ee ettt ettt nn et 143
LONG SOKE IAENETICALION .......ovuieiice e bbb 144
Double-Diaphragm to Piston CONVEISION CRErt .............ccuiierrceceis ettt 145
Procedure t0 CUE @ PUSN-ROM ... bbb 146
Proper Brake AQJUSIMENLE. ...ttt et s bbb e s s bbbttt ee st eenes 147
Fastener TOrQUE ValUE CRart...........c.i it bbb 148
Procedure to Lengthen External Breather TUDE ........c.oo et 149
Mixing Standard and LONg StroKe CRAmMDEIS..........c.uiiuieriiieie s s 150
Field Replacement - Consideration for Brake Actuators with Welded YOKES .........ccccovoiiiiiieeic e 151
Performance Chart - Spring Brake Chambers (including Remote Mount Cylinders) - SAE ..o 152
Performance Chart - Service Brake Chambers - SAE ...ttt st 153-158
Performance Chart - Spring Brake Chambers (including Remote Mount Cylinders) - METRIC ..o, 159
Performance Chart - Service Brake Chambers - METRIC ..ottt sea s 160-165
Section 11: BrakeTECH Self-Study Training PrOgram ..ot ssens 164-165
SECHON 12: WAITANLY PONCIES............coviviiviieiciicici sttt 168-173
LiMIted WEITANTY POICY ........eeve ettt 170-172
Contact Outside U.S.A. @NA CANAGA. ..........c.crierreeerreeetr ettt et seb bbbt ee st esnnnet s 173
SECHON 13: GlOSSANY OF TEBIMS.........cviieiiiiiteiceeee ettt eb st s bbbt 174-181

KEY TO MODEL “PREFIXES”

KEY TO MODEL “SUFFIXES”

C = SERVICE CHAMBER

A=1.75" (44.5 mm) STROKE (MAGNUM PERFORMANCE PLUS)

CS = SERVICE CHAMBER / SEALED

B =2.00" (50.8 mm) STROKE

CW = SERVICE CHAMBER/WEDGE

LTR = INTEGRAL RELEASE BOLT/TAMPER RESISTANT

)
C=2.25"(57.1 mm) STROKE
D =2.50" (63.5 mm) STROKE

LTS = INTEGRAL RELEASE BOLT/TAMPER RESISTANT

E = 3.00°(76.2 mm) LONG STROKE (MAGNUM PERFORMANCE PLUS)

M= MAGNUM

ESH = UNIT EQUIPPED WITH e*STROKE® / DRUM

MJB = MAGNUM PERFORMANCE PLUS / DISC

ESK = UNIT EQUIPPED WITH e*STROKE® / DISC

MJS = MAGNUM PERFORMANCE PLUS / S-CAM H=HYBRID
MJW = MAGNUM PERFORMANCE PLUS / WEDGE HD = HEAVY DUTY
TR = TAMPER RESISTANT L =LONG STROKE

TRB =TAMPER RESISANT / DISC

L3 =3.00" (76.2 mm) LONG STROKE CHAMBER

CSB = SEALED SERVICE CHAMBER / DISC

LP3=3.00" (76.2 mm) LONG STROKE / LOW PROFILE

S = SEVERE SERVICE

T=BREATHER TUBE

W =WELDED MOUNTING BOLTS

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

5
WWW.MGMBRAKES.COM




v
2
-]
2
G
=
W
m
A
~
=
@)
O
m
F
O
m
N
-
)
>
-]
b=
O
2

PART NUMBER / MODEL DESIGNATION

PIN Series Model Stroke inch (mm) Part Description Page Number(s) Obsolete Replaced By
SERVICE CHAMBERS
1009 CW9 1.75” (44.5 mm) Wedge Service 78-79
1012 CW12 1.75" (44.5 mm) Wedge Service 78-79
1016 CwW16 1.75” (44.5 mm) Wedge Service 78-79
1412 C12 1.75” (44.5 mm) CAM Service 70-71
1416 C16 2.25" (57.1 mm) CAM Service 70-71
1417 C16L 2.50” (63.5 mm) CAM Service . X 1617
1418 C16L2.5 2.50” (63.5 mm) CAM Service 72-73
1420 C20 225" (57.1 mm) CAM Service 70-71
1421 C20L 2.50” (63.5 mm) CAM Service 72-73
1427 C24L 250" (63.5 mm) CAM Service 70-71
1428 C24L3 3.00” (76.2 mm) CAM Service 7273
1430 C30 2.50” (63.5 mm) CAM Service 70-71
1431 C30L3 3.00” (76.2 mm) CAM Service 72-73
1436 C36 3.00” (76.2 mm) CAM Service 70-71
1617 CS16LH 2.50” (63.5 mm) CAM Service 74-75
1621 CS20L 2.50” (63.5 mm) CAM Service 74-75
1623 CS20L3 3.00” (76.2 mm) CAM Service 74-75
1627 CS24L 2.50” (63.5 mm) CAM Service 74-75
1628 CS24L3 3.00” (76.2 mm) CAM Service 74-75
1630 CS30 2.50” (63.5 mm) CAM Service 74-75
1631 CS30L3 3.00” (76.2 mm) CAM Service 74-75
1640 CS24LW 2.50" (63.5 mm) CAM Service 74-75
WEDGE BRAKES
1009 CW9 1.75” (44.5 mm) Wedge Service 78-79
1012 CW12 1.75" (44.5 mm) Wedge Service 78-79
1016 CW16 1.75” (44.5 mm) Wedge Service 78-79
2014 WM1216 1.75” (44.5 mm) Wedge Spring/Service . MJW1216AT
2017 WM1624LG-T 2.00” (50.8 mm) Wedge Spring/Service . MJW1624BT
2212 WL1216 1.75” (44.5 mm) Wedge Spring/Service . MJW1216AT
MJW1216AT | MJW1216AT 1.75" (44.5 mm) Wedge Piston/Spring/Service 80-81
MJW1616AT | MIW1616AT 1.75” (44.5 mm) Wedge Piston/Spring/Service 80-81
MJW1624BT | MJW1624BT 2.00” (50.8 mm) Wedge Piston/Spring/Service 82-83
DOUBLE DIAPHRAGM SPRING BRAKES
3220 TR2030LP3H 3.00” (76.2 mm) CAM Spring/Service 36-37
3221 TR2030LP3TH 3.00” (76.2 mm) CAM Spring/Service 40-41
3224 TR2430LP3 3.00” (76.2 mm) CAM Spring/Service 36-37
3225 TR2430LP3T 3.00” (76.2 mm) CAM Spring/Service 40-41
3226 TR2430LP3HD 3.00" (76.2 mm) CAM Spring/Service 38-39
32271 TR2430LP3THD 3.00” (76.2 mm) CAM Spring/Service 42-43
3230 TR3030LP3 3.00” (76.2 mm) CAM Spring/Service 36-37
3231 TR3030LP3T 3.00” (76.2 mm) CAM Spring/Service 40-41
3232 TR3030LP3HD 3.00” (76.2 mm) CAM Spring/Service 38-39
3233 TR3030LP3THD 3.00" (76.2 mm) CAM Spring/Service 42-43
3234 TR3036L3 3.00” (76.2 mm) CAM Spring/Service 36-37
3235 TR3036L3T 3.00” (76.2 mm) CAM Spring/Service 40-41
3244 TR3030LP3THDW 3.00” (76.2 mm) CAM Spring/Service 44-45

Note:  For Transit / Special Applications (i.e. rod length, etc.,) refer to Section 6.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM




PART NUMBER / MODEL DESIGNATION

PIN Series Model Stroke inch (mm) Part Description Page Number(s) Obsolete Replaced By
3420 TR2024 2.25" (57.1 mm) CAM Spring/Service 18-19
3421 TR2024T 2.25" (57.1 mm) CAM Spring/Service 24-25
3426 TR2424LT 250" (63.5 mm) CAM Spring/Service 24-25
3421 TR2424L 2.50” (63.5 mm) CAM Spring/Service 18-19
3428 TR2430LT 250" (63.5 mm) CAM Spring/Service 24-25
3429 TR2430L 2.50” (63.5 mm) CAM Spring/Service 18-19
3430 TR3030 2.50” (63.5 mm) CAM Spring/Service 18-19
3431 TR3030T 2.50" (63.5 mm) CAM Spring/Service 24-25
3432 TR3036T 2.50” (63.5 mm) CAM Spring/Service 24-25
3433 TR3036 2.50” (63.5 mm) CAM Spring/Service 18-19
3434 TR3024 2.50" (63.5 mm) CAM Spring/Service 18-19
3435 TR3024T 2.50” (63.5 mm) CAM Spring/Service 24-25 X
3436 TR3636T 3.00” (76.2 mm) CAM Spring/Service 24-25
3331 TR3030L3-T 3.00” (76.2 mm) CAM Spring/Service . X 3231
3437 TR3636 3.00” (76.2 mm) CAM Spring/Service 18-19
3443 TR3030HDW 2.50” (63.5 MM) CAM Spring/Service 22-23
3444 TR3030THDW 2.50” (63.5 mm) CAM Spring/Service 28-29
3523 TR2430LP3TS 3.00" (76.2 mm) CAM Spring/Service 46-47
3526 TR2430LTSHD 2.50” (63.5 mm) CAM Spring/Service 32-33
3527 TR2430LP3TSHD 3.00" (76.2 mm) CAM Spring/Service 48-49
3528 TR2430LTS 2.50" (63.5 mm) CAM Spring/Service 30-31
3531 TR3030TS 2.50” (63.5 mm) CAM Spring/Service 30-31
3532 TR3036TS 2.50” (63.5 mm) CAM Spring/Service 30-31
3533 TR3030TSHD 2.50” (63.5 mm) CAM Spring/Service 32-33
3534 TR3030LP3TSHD 3.00” (76.2 mm) CAM Spring/Service 48-49
3535 TR3030LP3TS 3.00” (76.2 mm) CAM Spring/Service 46-47
3536 TR3636TS 3.00” (76.2 mm) CAM Spring/Service 30-31
3538 TR2424LTS 2.50” (63.5 mm) CAM Spring/Service 30-31
3544 TR3030TSHDW 2.50” (63.5 mm) CAM Spring/Service 34-35
3545 TR3030LP3TSHDW 3.00” (76.2 mm) CAM Spring/Service 50-51
3624 TR2430LHD 2.50” (63.5 mm) CAM Spring/Service 20-21
3625 TR2430LTHD 2.50” (63.5 mm) CAM Spring/Service 26-27
3630 TR3030HD 2.50” (63.5 mm) CAM Spring/Service 20-21
3631 TR3030THD 2.50” (63.5 mm) CAM Spring/Service 26-27
LONG LIFE DOUBLE DIAPHRAGM SPRING BRAKES
3827 LTR2430LT 250" (63.5 mm) CAM Spring/Service 52-53
3828 LTR2430L3 3.00” (76.2 mm) CAM Spring/Service 54-55
3831 LTR3030T 2.50” (63.5 mm) CAM Spring/Service 52-53
3832 LTR3030L3 3.00” (76.2 mm) CAM Spring/Service 54-55
3833 LTR3030L3T 3.00” (76.2 mm) CAM Spring/Service 58-59
3844 LTR3030L3W 3.00” (76.2 mm) CAM Spring/Service 56-57
LTS3030ET | LTS3030ET 3.00” (76.2 mm) CAM Spring/Service 60-61
PISTON BRAKES
4112 M1216G-T 1.75" (44.5 mm) CAM Piston/Spring/Service . X MJS1216AT
4115 M1620LGT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS1724ET
4117 M1624LGT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS1724ET
4119 M2020LGT 2.50" (63.5 mm) CAM Piston/Spring/Service . X MJS2024ET
4120 M2024LGT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS2024ET
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

NOTE: For Transit / Special Applications (i.e. rod length, etc.,) refer to Section 6.

7

WWW.MGMBRAKES.COM

=
O
=
-
<
=
O
]
)
LLJ
(@]
el
LLJ
Q
O
>3
~
2 4
LLl
a0
>3
-
<
-
(24
<
o




v
2
-]
2
G
=
W
m
A
~
=
@)
O
m
F
O
m
N
-
)
>
-]
b=
O
2

PART NUMBER / MODEL DESIGNATION

PIN Series Model Stroke inch (mm) Description Page Number(s) Obsolete Replaced By
4122 M2420LGT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS2424ET
4124 M2424LGT 250" (63.5 mm) CAM Piston/Spring/Service . X MJS2424ET
4128 M2430LGT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS2430ET
4131 M3027GT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS3028ET
4133 M3024GT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS3024ET
4420 M2030LGT 250" (63.5 mm) CAM Piston/Spring/Service . X MJS2030ET
4430 M3030GT 2.50" (63.5 mm) CAM Piston/Spring/Service . X MJS3028ET
4431 M3031GT 2.50” (63.5 mm) CAM Piston/Spring/Service . X MJS3030ET

MJS1216AT | MJS1216AT 1.75” (44.5 mm) CAM Piston/Spring/Service 62-63
MJS1722ET | MJS1722ET 3.00” (76.2 mm) CAM Piston/Spring/Service . X
MJS1724ET | MJS1724ET 3.00” (76.2 mm) CAM Piston/Spring/Service 64-65
MJS2022ET | MJS2022ET 3.00” (76.2 mm) CAM Piston/Spring/Service . X
MJS2024ET | MJS2024ET 3.00” (76.2 mm) CAM Piston/Spring/Service 64-65
MJS2030ET | MJS2030ET 3.00” (76.2 mm) CAM Piston/Spring/Service 68-69
MJS2422ET | MJS2422ET 3.00” (76.2 mm) CAM Piston/Spring/Service . X
MJS2424ET | MJS2424ET 3.00” (76.2 mm) CAM Piston/Spring/Service 66-67
MJS2430ET | MJS2430ET 3.00” (76.2 mm) CAM Piston/Spring/Service 66-67
MJS3022ET | MJS3022ET 3.00” (76.2 mm) CAM Piston/Spring/Service . X
MJS3024ET | MJS3024ET 3.00” (76.2 mm) CAM Piston/Spring/Service 66-67
MJS3028ET | MJS3028ET 3.00” (76.2 mm) CAM Piston/Spring/Service 68-69
MJS3030ET | MJS3030ET 3.00” (76.2 mm) CAM Piston/Spring/Service 68-69
MJS3628ET | MUS3628ET 3.00" (76.2 mm) CAM Piston/Spring/Service 68-69
MJS3630ET | MJS3630ET 3.00” (76.2 mm) CAM Piston/Spring/Service 68-69
MJW1216AT | MUW1216AT 1.75" (44.5 mm) Wedge Piston/Spring/Service 80-81
MJW1616AT | MJW1616AT 1.75" (44.5 mm) Wedge Piston/Spring/Service 80-81
MJW1624BT | MJW1624BT 2.00" (50.8 mm) Wedge Piston/Spring/Service 82-83
REMOTE MOUNT CYLINDERS
5004 R4A 4.50” (114.3 mm) Remote Mount Cylinder 92-93
5005 R5AHD 4.20" (106.7 mm) Remote Mount Cylinder 92-93
5007 R7A 2.75" (69.8 mm) Spring Applied/Air Released 94-95
5008 R8H 2.75" (69.8 mm) Spring Applied/Hydraulic Released 94-95
AIR DISC BRAKES
16 CSB16D 2.50” (63.5 mm) Air Disc Service 86
18 CSB18D 2.50” (63.5 mm) Air Disc Service 86
20 CSB20D 3.00” (76.2 mm) Air Disc Service 86
22 CSB22D 2.50” (63.5 mm) Air Disc Service 86
24 CSB24D 2.50” (63.5 mm) Air Disc Service 86
1624 TRB1624DT 2.50” (63.5 mm) Air Disc/Spring/Service 87
1824 TRB1824DT 250" (63.5 mm) Air Disc/Spring/Service 87
2024 TRB2024DT 250" (63.5 mm) Air Disc/Spring/Service 87
2224 TRB2224DT 2.50” (63.5 mm) Air Disc/Spring/Service 87
2424 TRB2424DT 2.50 (63.5 mm) Air Disc/Spring/Service 87

NOTE: For Transit/Special Applications (i.e. rod length, etc.,) refer to Section 6.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM




PART NUMBER / MODEL DESIGNATION

PIN Series Stroke inch (mm) Description Page Number(s) Obsolete Replaced By
2430 TRB2430DT 2.50" (63.5 mm) Air Disc/Spring/Service 87
1624 MJB1624DT 2.50” (63.5 mm) Air Disc/Piston/Spring/Service 88
1824 MJB1824DT 2.50” (63.5 mm) Air Disc/Piston/Spring/Service 88
2024 MJB2024DT 2.50” (63.5 mm) Air Disc/Piston/Spring/Service 88
2224 MJB2224DT 2.50” (63.5 mm) Air Disc/Piston/Spring/Service 88
2424 MJB2424DT 2.50” (63.5 mm) Air Disc/Piston/Spring/Service 88

NOTE: For Transit / Special Applications (i.e. rod length, etc.,) refer to Section 6.

UNDERSTANDING MGM BRAKES PART NUMBERS

MGM Brakes assigns a 7 digit part number except Magnum Performance Plus (see below) to every assembly and part we manufacture.

This number code reveals information about the part.
EXPLANATION OF 7-DIGIT PART NUMBER

+ 1% Two Digits: Major models, groups, detail parts, kits, etc.
+ 2" Two Digits: (a) Model size on major groups
(b) Detail parts identification all others
+ 3¢ Three Digits:  Numerical sequence 001-999
(a) Spring brake singles — 001 through 050
Spring brake tandems — 051 through 999
(b) All others 001 through 999

MAGNUM PERFORMANCE PLUS Example: MJS3030ET051
NUMBERING SYSTEM
. Service Spring Max. Serial
The Magnum “Performance” Plus [JUUSCCIRSENES Side Side Stroke | Feature I\ er
numbering system is uniquely different
from how MGM Brakes identified products MJ S 30 30 E T 051

in the past. The Magnum Plus part number

contains all the information pertaining to the » Aftermarket
brake, allowing anyone to identify not only Magnym S-Cam Type 30 Type 30 3.00 Breather Complete
the model, but application, stroke, features J-Series (76.2 mm) Tube Assembly
and serial number as well.
AIRDISC Example: TRB2424DT051
NUMBERING SYSTEM . . .
o . . . . Service Spring Max. Serial

The Air Disc numbering system is uniquely [JUUSERSENES Side Side Stroke | FeaUre 1 \imber
different from how MGM Brakes identified
products in the past. The air disc part TR B 24 24 D T 051

number contains all the information

pertaining to the brake, allowing anyone to Doubl 250" Breath Aftermarket
identify not only the model, but application, Di OrL: e Disc Type 24 Type 24 65‘ r_lt_eab er Complete
stroke, features and serial number as well. laphragm (65 mm) UPe 1 Assembly

)
24
LLl
22
>3
-
<
-
2 4
<
o
)
LLl
:
o0
>3
O
=
O
<
=
Q
=
<
=
)
24
LLJ
Q
<
-

NOTE: See chart Part Number/Model Designation on page 5 for more key model prefixes and suffixes.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

9
WWW.MGMBRAKES.COM




SEGAIVIES ER1ED

SateaReliable SlampersResistant
NOCIUUES I RFTR-LP3 LI RBIN S 3
2istonmandiService Chambers:

All TR type 30 and 36 Spring Side Brake Models
include Corrosion Fighter Technology.



SECTION 1 - S-CAM

Page(s)
Double Diaphragm Spring Brakes..........ccccooevvevviiiciciieceecenes 10-35
Corrosion FIghter TECANOIOQY...........c.euiuruireiriciecieeseeisee st 16
INAUSErY Safety REMINGET ... 17
Standard Stroke Models
TR TaMPET RESISANL. .......viiiiceciciee ettt 18-19
TR-HD Tamper Resistant, HEavy-DULY ... 20-21 LLl
TR-HDW Tamper Resistant, Heavy-Duty, Welded NPC ............c.ccceiiiiiiccecece s 22-23 é
| [+'4
TR-T Tamper RESIStANt, TUDE.........cccuciciciccccceeeeee ettt 24-25 I-
TR-THD Tamper Resistant, Tube, HEaVY-DULY ..........ccoirircrc s 26-27 g
TR-THDW  Tamper Resistant, Tube, Heavy-Duty, Welded NPC .............ccccoeiiiceesicccee e 28-29 m
TR-TS Tamper Resistant, TUDE, SEVETE SEIVICE .........c.cvevevceiriecceee et 30-31 g
TR-TSHD Tamper Resistant, Tube, Severe Service, Heavy-Duty..........cccovvvi v 32-33 E
TR-TSHDW  Tamper Resistant, Tube, Severe Service, Heavy-Duty, Welded NPC.............ccccoeveviviceininnes 34-35 (IB
~
>3
<
g g d
TR-T

TR-TSDW

cORROTIN

—FIGHTER>—
TECHNOLOGY

All type 30 Spring Side Brake Models include
Corrosion Fighter Technology.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

11

WWW.MGMBRAKES.COM



SECTION 1 - S-CAM
()

Double Diaphragm Spring Brakes..........c.cccocevevviiiciciieceecee 36-51

Long Stroke Models

TR-LP3/TR-L3 Tamper Resistant, LONG StTOKE.........cvviuiriiericeie ettt 36-37
TR-LP3HD Tamper Resistant, Long Stroke, HEavy-DULY ..o 38-39
TR-LP3T/TR-L3T Tamper Resistant, LONG StroKe, TUDE........ccovirierceree e 40-41
TR-LP3THD Tamper Resistant, Long Stroke, Tube, Heavy-Duty...........ccccvvveriniiieiiicesecs e 42-43
m TR-LP3THDW Tamper Resistant, Long Stroke, Tube, Heavy-Duty, Welded NPC ... 44-45
|
g TR-LP3TS Tamper Resistant, Long Stroke, TUDE, SEVETE SEIVICE .......cvvvvrreriieiricrriees et 46-47
z TR-LP3TSHD Tamper Resistant, Long Stroke, Tube, Severe Service, Heavy-Duty...........c.ccoevvveevicrnccennice i, 48-49
\
TR-LP3TSHDW  Tamper Resistant, Long Stroke, Tube, Severe Service, Heavy-Duty, Welded NPC............ccccooveneee. 50-51
5
TR-LP3TSHDW TR-LP3 TR-LP3T
nR
n"" @
l""ﬁ R DT
b UL L
®
—FIGHTER—

TECHNOLOGY

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

12
WWW.MGMBRAKES.COM




SECTION 1 - S-CAM

Page(s)

Long Life Double Diaphragm Spring Brakes ..........ccccoeevvvicvnnine, 52-59
Standard Stroke Model

LTR-T Integral Release Bolt, Tamper Resistant, TUDE ..o 52-53
Long Stroke Model

LTR-L3 Integral Release Bolt, Tamper Resistant, LONg Stroke........c.cocveeiiiicicesscee s 54-55
LTR-L3W Integral Release Bolt, Tamper Resistant, Long Stroke, Welded NPC............cccccovvieniiniicnienns 56-57
LTR-L3T Integral Release Bolt, Tamper Resistant, Long Stroke, TUDE........ccccvvveeeeniecccescee s 58-59
LTS Integral Release Bolt, Tamper Resistant, Long Stroke, TUDE........ccccvvvceceiicccercee e 60-61

LLI
1
-
—d
O
4
@
—
~
>3
<L
5
()]

LTR-T LTR-L3 LTR-L3T LTS

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

13

WWW.MGMBRAKES.COM



?
(@
>
<
~
v
=
)
-
@)
<

SECTION 1 - S-CAM

Piston Spring Brakes ... 62-69

Standard Stroke Model

MJS Magnum, J-Series, 1.75” (44.5 mm) Stroke, TUDE .....covvirrrrccsreece e 62-63
Long Stroke Model

MJS-ET Magnum, J-Series, 3.00” (76.2 mm) Stroke, TUDE ....covvvvrerrrcer e 64-69

MJS-AT MJS-ET

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

14

WWW.MGMBRAKES.COM



SECTION 1 - S-CAM

SEIVICE CNaAMEIS ... 70-75

Standard Stroke Model
C SEIVICE CAMDEIS. ...ttt ettt ettt ettt ettt et et ee et et et et et eneeneeneaneaeeeenreneans 70-71

Long Stroke Models

CL Service Chambers, LONG StrOKE ..ot 72-73

CS Service Chambers, Long Stroke, Sealed............cvivirniirnrceiesceee s 74-75

C CL CS

« For air disc applications, refer to section 3.

24
L
0
>3
<
L
O
L
O
;
24
L
()]
~
>3
<
(.I)
()]

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

15

WWW.MGMBRAKES.COM



MGM TR Model Brakes - hetter than ever!

Commercial vehicle metal components are constantly
subjected to harsh corrosive environmental conditions,
particularly in the winter months in the northern climates.
Until recently, the coatings and materials used in spring
brakes were sufficient to effectively resist the corrosive
effects of materials found in the environments in which the
vehicles operate, including the effects of rock salt used to de-
ice the roadways.

u
However, with the introduction of more aggressive de- - . Old steel quide
icing solutions, which literally “cling” to the surface, metal ,Egg‘gjgﬂstgegg;gﬁ g
components are experiencing much higher levels of corrosion. orange for visual purposes,
In warmer weather, after the water has evaporated, the
corrosion process can be reactivated on rainy days when
moisture comes into contact with the crystallized salt deposits.

A way to reduce the effects of this “corrosive” attack is
to break the electrical conductivity between the parts by
changing one of the existing components to a non-conductive
material. This is what MGM Brakes Engineering has done by
designing a spring guide constructed from heavy-duty, non-
conductive composite material. The composite guide prevents
metal to metal contact between the end coil of the power
spring and the head of the brake, effectively “breaking the
circuit”, therefore slowing the corrosion process and reducing
“corrosion” related brake failures.

In addition to constructing the guide from composite material,
MGM Engineers made other design changes that significantly Composite Guide - A Standard Feature S
improve power spring life by preventing damage to the  (ongtructed from heavy-duty, non-metallic composite '
power spring’s protective coating. This was accomplished by  material. Available on all TR - type 30 and 36 spring

enlarging the area into which the power spring is compressed " side model chambers.

when the parking brake is released. All this was done without "
increasing the overall size of the brake. ; L

Our spring guide also ensures precise alignment of the power : "33 ” e

spring inside the brake. Accurate alignment of the head side - -
- of the power spring compliments our patented Center-Hole ; }

Diaphragm (CHD) deS|gn prp\ndmg longer center seal and o - = .

power sp::mg Ilfe : " o : . Ty
;- MGM S|Sr|ng Brakes are known for their durability and we are = T { e

proud that our products utilize corrosion resistant materials: . s - -
= _such as-A360 alummum, epoxy coatmg and ‘clear trivalent
chrpmate ol P iy

--": . s > = -..; .-’.-'_..I-: s '."' A nng!n
r-::: ."':.-:r:i.- B Z :
s 52 ﬁ%ﬁﬁ ) Wb ;_

-
s = " -
=0 A s e
e :':"P".',JI’"!: r '{ 2 --‘f_,-'ﬁf m ‘ .,—.-q-.rl'"—
b e S e Lo v R o 2pell
e L FIGHTER—
. b gt ¥ ,ﬁ‘ﬂ.'p_'l.r" o ,p"".r' - A
A T P
. gl i " ol - o
-.."’-rl""":ﬂ ol “f‘ -
:-_"':-r

oy g - -
Y A I 4 .---’..-f'”
T = g



DANGER OF DOUBLE CLAMP BANDED SPRING BRAKES

INDUSTRY SAFETY REMINDER:

Before 1989 double diaphragm spring brake actuators were manufactured using two clamp bands; one to seal the service side
and one to seal the spring parking side. At one time both sides of these units were considered “serviceable”, meaning that
if either side failed the clamp band could be removed, the diaphragm or other components could be replaced, and the unit
continued in service as repaired.

While removing the clamp band on the service side of a double diaphragm spring brake actuator carries little or no risk,
experience showed that all too often technicians did not follow the required safety procedures when removing the clamp band
on the spring parking side, resulting in a potential for severe personal injury. If the powerful spring in the spring parking side
is not properly “caged” before the clamp band is removed the spring can propel components of the assembly with great force,
potentially causing severe personal injury.

In response to this safety problem MGM Brakes pioneered the development in 1987 of the “Tamper Resistant” double diaphragm
spring brake actuator with the first “non-serviceable” spring parking side. By the early 1990’s the entire domestic industry
recognized the enhancement to safety offered by the “Tamper Resistant” design. Today every responsible spring brake
manufacturer based in the United States offers only spring brakes utilizing a “Tamper Resistant” technology. As a result of
the universal adoption of a “Tamper Resistant” design for the spring parking side of double diaphragm spring brake actuators,
instances of injury to workers from improper repair procedures or accidents have steadily declined until today they are virtually
nonexistent.

Unfortunately, a disturbing trend is emerging within the aftermarket portion of the heavy duty truck industry - the use of double
clamp banded spring brake actuators as replacements for damaged or failed “Tamper Resistant” units. This “reintroduction”
of double clamp banded spring brakes into the North American market seriously threatens worker safety in the heavy duty
truck industry. Especially at risk are those workers least experienced in the industry. Well over a decade has passed since
MGM Brakes' introduction of “Tamper Resistant” spring parking brakes and many in the service and maintenance end of the
industry have not seen, let alone serviced, a double clamp banded spring brake. Younger workers are not likely to have been
trained in the special safety procedures required to cage the spring before servicing the spring parking side of double clamp
banded units.

Therefore, MGM Brakes believes the industry needs to be reminded of the dangers associated with servicing double clamp
banded spring brakes.

! BE SURE TO PROPERLY “"CAGE” THE SPRING IN THE SPRING PARKING SIDE ON ALL DOUBLE
DIAPHRAGM SPRING BRAKE ACTUATORS - EVEN “TAMPER RESISTANT” MODELS - BEFORE
ATTEMPTING ANY SERVICE ON THEM.

DO NOT ATTEMPT TO REMOVE OR LOOSEN THE SPRING PARKING SIDE CLAMP BAND ON A
DOUBLE CLAMP BANDED SPRING BRAKE ACTUATOR UNDER ANY CIRCUMSTANCE.

IMPROPER SERVICING OF A DOUBLE CLAMP BANDED SPRING BRAKE ACTUATOR MAY RESULT
IN SEVERE PERSONAL INJURY DUE TO AN UNINTENTIONAL SEPARATION OF THE HEAD FROM
THE BASE OF THE UNIT.

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

Double Clamp Band MGM “TR"
Spring Brake Spring Brake

Spring Side _, Spring Side

Clamp Band No Clamp Band
Service Side Service Side
Clamp Band Clamp Band

Information taken from technical bulletin EB 06-003.
Reference documents are available on our website: www.mgmbrakes.com

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

17
WWW.MGMBRAKES.COM




S-CAM/TR

Standard Stroke Model
Combination Piggyback Plus Kit
< D > | VMRSH# 013-004-000 VMRS# 013-004-001

A A
.. D
A ~
M

\ 4

TR Model Features

5
>
=
' Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
\ 4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket Heavy Duty "Long Life" Power Spring w/Additional Parking Force
m 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
q ' Epoxy Coated Return & Power Springs External Breather Tube
> e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
z /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
U ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
> PIN Series 3420 3427 3429 3430 3433 3437
w Model TR2024 TR2424L TR2430L TR3030 TR3036 TR3636
U Size 2024 2424 2430 3030 3036 3636
Stroke 2.25" (57.2mm) | 250" (63.5mm) | 2.50" (63.5mm) | 2.50" (63.5mm) | 2.50" (63.5 mm) 3.00" (76.2 mm)
m P/N Combination SAE 3420051 3427051 3429051 3430051 3433051 3437051
q P/N Combination 12" Rod* N/A 3427551* 3429551* 3430551* N/A 3437551*
P/N Combination 18" Rod* N/A N/A 3429651* 3430651* N/A 3437651*
w P/N Neoprene Diaphragm N/A 3427851 N/A 3430851 3433851 N/A
o P/N Welded Yoke (2.25") N/A N/A N/A 3430951 3433951 3437951
x P/N Piggyback Plus Kit SAE 3420008 3427008 3429008 3430008 3433008(a) 3437008
m P/N Combination METRIC N/A 3427049 3429049 3430049 N/A N/A
Wt. Combination 1591b(7.2kg) | 1661 (75kg) | 1821b(83kg) | 1941b(88kg) | 2651b(12.0kg) | 30.81b(14.0kg)
W. Single 9.61b (4.4 kg) 9.51b (4.3 kg) 1.3 (.1kg) | 113 G1kg) | 1831b(83kg) | 20.21b(9.2kg)
A 8.34" (211.8 mm) | 8.52" (216.4 mm) | 8.99" (228.4 mm) | 9.04" (229.6 mm) | 9.90" (251.5 mm) | 11.08" (281.5 mm)
B 6.18" (157.0 mm) | 6.40" (162.6 mm) | 6.87" (174.5mm) | 6.71" (170.4 mm) | 7.54" (191.5mm) | 8.39" (213.1 mm)
C 6.72" (170.6 mm) | 7.19" (182.7 mm) | 7.19" (182.7 mm) | 8.32" (211.3 mm) | 8.32" (211.3 mm) | 9.24" (234.6 mm)
D 7.34”(186.4 mm) | 7.34" (186.4 mm) | 8.21" (208.5 mm) | 8.21" (208.5 mm) | 9.18" (233.2 mm) | 9.18” (233.2 mm)
E 4.75" (120.7 mm)
F 5/8" - 11 UNC (M16 x 1.5 - 6g)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.
(a) This model must be used with MGM Brakes heavy-duty weld reinforced mounting base or 8-gauge non-pressure housing.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

18
WWW.MGMBRAKES.COM




S-CAM/TR

Standard Stroke Model
Replacement Parts
PIN Series 3420051 3427051 3429051 3430051 3433051 3437051
Model TR2024 TR2424L | TR2430L TR3030 TR3036 TR3636
1 Kit - NP Chamber (a) 9015160 9015047 9015047 9015050 9015050 9015049
2 | Kit- Nuts & Bolts 9003001 9003001 9003001 9003001 9003001 9003001
3 | Clamp Band Assembly 8216020 8216025 8216025 8216045 8216045 8216036
4 | Diaphragm 8017120 8017141 8017141 8017730 8017730 8017836
5 | Kit- Push-Rod Assembly (a) SAE 9064001 9064002 9064002 9064003 9064003 9064004

5a | Kit- Push-Rod Assembly (a) METRIC | 9064015 | 9064016 | 9064016 | 9064035 9064035 9064009

6 | Return Spring 8068002 8068002 8068002 8068002 8068002 8068012
7 | Kit- Center Hole Shield 9065002 9065002 9065002 9065002 9065002 9065002
8 | NP Chamber Assembly (a) 8215169 8215026 8215026 8215501 8215501 8215036
9 | Kit- Nuts & Washers SAE 9002001 9002001 9002001 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002 9002002 9002002 9002002 9002002
10 J Hex Nut- Yoke SAE 8130004 8130004 8130004 8130004 8130004 8130004
10a J Hex Nut - Yoke METRIC 8130016 8130016 8130016 8130016 8130016 8130016
11 | Kit - Weatherseal™ Plug 9019005 9019005 9019005 9019005 9019006 9019006
12 | Kit - Release Bolt 9007003 9007003 9007003 9007003 9007009 9007009
13 | Kit - Piggyback Plus SAE 3420008 3427008 3429008 3430008 J 3433008(b) | 3437008

OPTIONAL ITEMS - For additional replacement parts, refer to Section 9

Yoke Assembly For additional replacement parts, refer to Section 9

Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.
(b) This model must be used with MGM Brakes heavy-duty weld reinforced mounting base or 8 - gauge non-pressure
housing.

Center Seal (Push-Rod Air Seal)
Multi-lipped, pressure activated seal — an
MGM exclusive - molded from specially
formulated low-temperature-resistant Nitrile
Rubber, providing long-term protection
against air leaks. Nylon guides eliminate
metal to metal contact and premature
failure in this critical area.

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

Welded Yoke Chamber

5/5a
1.3"(33 mm)

Y =2.25"

-y }9/95 For more welded yoke choices,
¥ . see page 104-105

10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

19
WWW.MGMBRAKES.COM




S-CAM /TR-HD

Standard Stroke Model
Combination Piggyback Plus Kit
< D > | VMRS# 013-004-000 VMRS# 013-004-001

A A

TR-HD Model Features

5
>
=
' Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
\ 4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket + Heavy Duty “Long Life” Power Spring w/Additional Parking Force
m 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
q ' Epoxy Coated Return & Power Springs External Breather Tube
> e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
z /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
U ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
> PN Series 3624 3630
w Model TR2430LHD TR3030HD
U Size 2430 3030
Stroke 250" (63.5mm) | 2.50" (63.5 mm)
m P/N Combination SAE 3624051 3630051
—l P/N Combination 12" Rod* 3624551* N/A
w P/N Combination 18" Rod* N/A N/A
o P/N Neoprene Diaphragm N/A 3630851
PIN Welded Yoke (2.25") 3624951 N/A
x PIN Piggyback Plus Kit SAE 3624008 3630008
m P/N Combination METRIC 3624049 3630049
Wt. Combination 18.6 b (8.4 kg) 19.91b (9.0 kg)
Wt. Single 11.71b (5.3 kg) 11.51b (5.2 kg)
A 8.99” (228.4 mm) | 9.04” (229.6 mm)
B 6.87" (174.5mm) | 6.71”(170.4 mm)
C 7.19”(182.7 mm) | 8.32"(211.3 mm)
D 8.217(208.5 mm) | 8.21” (208.5 mm)
E 4.75" (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 69)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

20
WWW.MGMBRAKES.COM




S-CAM /TR-HD

Standard Stroke Model
Replacement Parts
PIN Series 3624051 3630051
Model TR2430LHD TR3030HD
1 Kit - NP Chamber (a) 9015047 9015050
2 Kit - Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017141 8017730
5 Kit - Push-Rod Assembly (a) SAE 9064002 9064003
5a | Kit- Push-Rod Assembly (a) METRIC 9064016 9064035
6 Return Spring 8068002 8068002
7 Kit - Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 8215026 8215501
9 Kit - Nuts & Washers SAE 9002001 9002001
9a Kit - Nuts & Washers METRIC 9002002 9002002
10 Hex Nut - Yoke SAE 8130004 8130004
10a | Hex Nut- Yoke METRIC 8130016 8130016
11 Kit - Weatherseal™ Plug 9019005 9019005
12 | Kit - Release Bolt 9007003 9007003
13 Kit - Piggyback Plus SAE 3624008 3630008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

B pue—

12

—ll

13

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

Center Hole Diaphragm
— Patented feature that aligns the piston,

diaphragm, power spring and internal push-rod
providing the following advantages: Maintains

Sk component alignment; reduces power spring
—1 stress; reduces coil clash; increases center-seal
% 6 life and eliminates the effects of severe vibration.
Q.
o
8 4
| 3.3 }9/9a
10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

21
WWW.MGMBRAKES.COM




?
Q)
>
<
~
g
>
<
O
>
.
O
)]
-
.
O
A
m

S-CAM/TR-HDW

Standard Stroke Model
Combination Piggyback Plus Kit
- D > | VMRS# 013-004-000
A A
B N/A
Y _|A
Y
E
< c =
TR-HDW Model Features
' Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4| Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket 4| Heavy Duty “Long Life” Power Spring w/Additional Parking Force
4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal | +#* | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
' Epoxy Coated Return & Power Springs External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
/' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
P/N Series 3443
Model TR3030HDW
Size 3030
Stroke 2.50” (63.5 mm)
P/N Combination SAE 3443051
P/N Combination 12" Rod* 3443551*
P/N Combination 18" Rod* N/A
P/N Neoprene Diaphragm 3443851
P/N Welded Yoke (2.25") N/A
PIN Piggyback Plus Kit SAE N/A
P/N Combination METRIC 3443049
Wt. Combination 19.91b (9.0 kg)
Wt. Single N/A
A 9.04” (229.6 mm)
B 6.71" (170.4 mm)
C 8.32" (211.3 mm)
D 8.21” (208.5 mm)
E 4.75” (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 6g)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

22




S-CAM/TR-HDW

Standard Stroke Model

Replacement Parts
PIN Series 3443051
Model TR3030HDW
1 Kit - NP Chamber (a) 9015905
2 Kit - Nuts & Bolts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017730
5 Kit - Push-Rod Assembly (a) SAE 9064003
5a | Kit - Push-Rod Assembly (a) METRIC 9064035
6 Return Spring 8068002
7 Kit - Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015259
9 Kit - Nuts & Washers SAE 9002001
9a | Kit- Nuts & Washers METRIC 9002002
10 Hex Nut - Yoke SAE 8130004
10a J Hex Nut - Yoke METRIC 8130016
1" Kit - Weatherseal™ Plug 9019005
12 | Kit- Release Bolt 9007003
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

B pue—

|
-

SN
o
» » 7/

N
&

12

5/5a

9/9
R

10/10a

L

Weld Reinforced Non-Pressure Housing
Heavy-gauge formed steel flat-bottom design, epoxy coated for
total corrosion protection and “weld-reinforced” mounting studs
for added support in extreme vibration applications. (bolt actually
epoxy coated - depicted here lighter for visual purposes)

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

23

WWW.MGMBRAKES.COM

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]




S-CAM/TR-T

Standard Stroke Model
Combination Piggyback Plus Kit
B D , VMRS# 013-004-000 VMRS# 013-004-001

TR-T Model Features

5
>
=
' Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
\ 4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4| Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket Heavy Duty “Long Life” Power Spring w/Additional Parking Force
m 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
q ' Epoxy Coated Return & Power Springs 4/ | External Breather Tube
> e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
z /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
U ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
> PIN Series 3421 3426 3428 3431 3432 3436
w Model TR2024T TR2424LT TR2430LT TR3030T TR3036T TR3636T
U Size 2024 2424 2430 3030 3036 3636
Stroke 2.25" (57.2mm) | 2.50" (63.5mm) | 2.50" (63.5 mm) | 250" (63.5mm) | 2.50" (63.5mm) | 3.00" (76.2mm)
m P/N Combination SAE 3421051 3426051 3428051 3431051 3432051 3436051
q P/N Combination 12" Rod* N/A N/A 3428551* 3431551* N/A 3436551*
w P/N Combination 18" Rod* N/A N/A 3428651 3431651* N/A 3436651
P/N Neoprene Diaphragm N/A N/A 3428851 3431851 3432851 3436851
o P/N Welded Yoke (2.25") N/A N/A 3428951 3431951 3432951 3436951
x P/N Piggyback Plus Kit SAE N/A N/A 3428008 3431008 3432008 (b) 3436008
m P/N Combination METRIC 3421049 3426049 3428049 3431049 N/A 3436049
Wt. Combination 1591b(7.2kg) | 1661b(7.5kg) | 1821b(8.3kg) | 19.41b(8.8kg) | 26.51b(12.0kg) | 30.81b(14.0 kg)
Wt. Single N/A N/A 1.3 (5.1kg) | 1131b(5.1kg) | 1831 (B.3ky) | 20.21b(9.2kg)
A 8.34" (211.8 mm) | 8.52" (216.4 mm) | 8.99" (228.4 mm) | 9.04" (229.6 mm) | 9.90" (251.5 mm) | 11.08" (281.5 mm)
B 6.18" (157.0 mm) | 6.40" (162.6 mm) | 6.87" (174.5 mm) | 6.71" (170.4 mm) | 7.54" (191.5mm) | 8.39"(213.1 mm)
C 6.72"(170.6 mm) | 7.19" (182.7 mm) | 7.19” (182.7 mm) | 8.32" (211.3 mm) | 8.32" (211.3 mm) | 9.24" (234.6 mm)
D 7.34" (186.4 mm) | 7.34” (186.4 mm) | 8.21" (208.5 mm) | 8.21" (208.5 mm) | 9.18" (233.2mm) | 9.18" (233.2 mm)
E 475" (120.7 mm)
F 5/8"- 11 UNC (M16 x 1.5 - 6g)
G 5/8”- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16x 1.5 - 6H)
X = Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.
(b) This model must be used with MGM Brakes heavy-duty weld reinforced mounting base or 8 - gauge non-pressure housing.

WWW.MGMBRAKES.COM

24

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.




S-CAM/TR-T

Standard Stroke Model
Replacement Parts
PIN Series 3421051 3426051 3428051 3431051 3432051 3436051
Model TR2024T | TR2424LT | TR2430LT | TR3030T | TR3036T | TR3636T
1 | Kit- NP Chamber (a) 9015111 9015152 9015152 9015157 9015149 9015150
2 | Kit- Nuts & Bolts 9003001 9003001 9003001 9003001 9003001 9003001
3 | Clamp Band Assembly 8216020 8216025 8216025 8216045 8216045 8216036
4 | Diaphragm 8017120 8017141 8017141 8017730 8017730 8017836
5 [ Kit - Push-Rod Assembly (a) SAE 9064001 9064002 9064002 9064003 9064003 9064004
5a | Kit - Push-Rod Assembly (a) METRIC 9064015 9064016 9064016 9064035 9064035 9064009
6 | Return Spring 8068002 8068002 8068002 8068002 8068002 8068012
7 | Kit - Center Hole Shield 9065002 9065002 9065002 9065002 9065002 9065002
8 | NP Chamber Assembly (a) 9015110 9015151 9015151 9015122 9015122 9015108
9 | Kit- Nuts & Washers SAE 9002001 9002001 9002001 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 § 9002002 9002002 9002002 9002002 9002002
10 J Hex Nut- Yoke SAE 8130004 8130004 8130004 8130004 8130004 8130004
10a | Hex Nut- Yoke METRIC 8130016 8130016 8130016 8130016 8130016 8130016
11 ] Kit- Weatherseal™ Plug 9019005 9019005 9019005 9019005 9019006 9019006
12 | Kit - Release Bolt 9007003 9007003 9007003 9007003 9007009 9007009
13 | Kit - Breather Tube 9081001 9081001 9081001 9081001 9081001 9081001
14 | Kit - Piggyback Plus SAE N/A N/A 3428008 3431008 | 3432008 (b) § 3436008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.
(b) This model must be used with MGM Brakes heavy-duty weld reinforced mounting base or 8 - gauge non-pressure housing.

I_“'--""_

I ]1

External Breather-Tube
_—Vents air from inside the protected area of
the non-pressure chamber to effectively
prevent entry of liquid and solid corrosive
contaminants that can cause premature

failure of the spring brake chamber.

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

Welded Yoke Chamber

5/5a

L=
. Y = 2.25”
8
] }9/9’:1 For more welded yoke choices,

see page 104-105

\—10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

25
WWW.MGMBRAKES.COM




?
Q)
>
<
~
g
>
<
O
>
.
O
)]
-
.
O
A
m

S-CAM/TR-THD

Standard Stroke Model
Combination Piggyback Plus Kit
- D . VMRS# 013-004-000 VMRS# 013-004-001
O
!
TR-THD Model Features
' Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4| Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket 4" | Heavy Duty “Long Life” Power Spring w/Additional Parking Force
4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
' Epoxy Coated Return & Power Springs 4/ | External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
/' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
PIN Series 3625 3631
Model TR2430LTHD TR3030THD
Size 2430 3030
Stroke 2.50” (63.5 mm) 2.50” (63.5 mm)
P/N Combination SAE 3625051 3631051
PIN Combination 12" Rod" 3625551" 3631551* Welded Yoke Chamber
PIN Combination 18" Rod* 3625651* N/A
P/N Neoprene Diaphragm N/A N/A
PIN Welded Yoke (2.25") 3625951 3631951
PIN Piggyback Plus Kit SAE 3625008 3631008
P/N Combination METRIC 3625049 3631049
Wt. Combination 18.6Ib (8.4 kg) 19.91b (9.0 kg)
Wt. Single 11.7 b (5.3 kg) 11.51b (5.2 kg)
A 8.99" (228.4 mm) 9.04” (229.6 mm) Y = 2,25
B 6.87” (174.5 mm) 6.71" (170.4 mm)
c 7.19' (182.7 mm) 8.32' (211.3 mm) et i
D 8.21" (208.5 mm) 8.217(208.5 mm)
E 4.75” (120.7 mm)
B 5/8”- 11 UNC (M16 x 1.5 - 69)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

26




S-CAM/TR-THD

Standard Stroke Model
Replacement Parts
PIN Series 3625051 3631051
Model TR2430LTHD TR3030THD
1 Kit - NP Chamber (a) 9015152 9015149
2 Kit - Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017141 8017730
5 Kit - Push-Rod Assembly (a) SAE 9064002 9064003
5a | Kit - Push-Rod Assembly (a) METRIC 9064016 9064035
6 Return Spring 8068002 8068002
7 Kit - Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 9015151 9015122
9 Kit - Nuts & Washers SAE 9002001 9002001
9a Kit - Nuts & Washers METRIC 9002002 9002002
10 Hex Nut - Yoke SAE 8130004 8130004
10a J Hex Nut - Yoke METRIC 8130016 8130016
11 | Kit - Weatherseal™ Plug 9019005 9019005
12 | Kit - Release Bolt 9007003 9007003
13 | Kit - Breather Tube 9081001 9081001
14 | Piggyback Plus Kit SAE 3625008 3631008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

5/5a

Center Hole Diaphragm
Patented feature that aligns the piston,

% 6 diaphragm, power spring and internal push-rod
providing the following advantages: Maintains
— component alignment; reduces power spring
- ° 7 stress; reduces coil clash; increases center-seal
o —1 life and eliminates the effects of severe vibration.
8
I3 }9/9&\

10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

27
WWW.MGMBRAKES.COM




S-CAM/TR-THDW

Standard Stroke Model
Combination Piggyback Plus Kit
- D . VMRS# 013-004-000
N/A
5
>
z TR-THDW Model Features
' Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
\ 4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4| Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket 4" | Heavy Duty “Long Life” Power Spring w/Additional Parking Force
m 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal | +#*| Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
q ' Epoxy Coated Return & Power Springs 4/ | External Breather Tube
> e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
z /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
U ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
> PIN Series 3444
w Model TR3030THDW
U Size 3030
Stroke 2.50” (63.5 mm)
m P/N Combination SAE 3444051
q PIN Combination 12" Rod* N/A
w PIN Combination 18’ Rod* N/A
o P/N Neoprene Diaphragm 3444851
PIN Welded Yoke (2.25") N/A
x P/N Piggyback Plus Kit SAE N/A
|'|'| P/N Combination METRIC 3444049
Wt. Combination 19.91b (9.0 kg)
Wt. Single N/A
A 9.04” (229.6 mm)
B 6.71" (170.4 mm)
c 8.32" (211.3 mm)
D 8.21" (208.5 mm)
E 475" (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 6g)
G 5/8" - 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

28
WWW.MGMBRAKES.COM




S-CAM/TR-THDW

Standard Stroke Model
Replacement Parts
PIN Series 3444051
Model TR3030THDW
1 Kit - NP Chamber (a) 9015905
2 Kit - Nuts & Bolts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017730
5 Kit - Push-Rod Assembly (a) SAE 9064003
5a | Kit - Push-Rod Assembly (a) METRIC 9064035
6 Return Spring 8068002
7 Kit - Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015259
9 Kit - Nuts & Washers SAE 9002001
9a | Kit- Nuts & Washers METRIC 9002002
10 | Hex Nut- Yoke SAE 8130004
10a | Hex Nut- Yoke METRIC 8130016
1" Kit - Weatherseal™ Plug 9019005
12 | Kit- Release Bolt 9007003
13 | Kit - Breather Tube 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

[

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

L

Weld Reinforced Non-Pressure Housing
5/5a Heavy-gauge formed steel flat-bottom design, epoxy coated for
total corrosion protection and “weld-reinforced” mounting studs
for added support in extreme vibration applications. (bolt actually
% epoxy coated - depicted here lighter for visual purposes)

| | 8

I3 }9/9a
‘ \—10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

29

WWW.MGMBRAKES.COM




S-CAM/TR-TS

Standard Stroke Model

Combination

Piggyback Plus Kit

VMRS# 013-004-000

»
:

A

N/A

TR-TS Model Features

5
>
=
' Tamper Resistant Parking Chamber Design 4+ | Center Hole Diaphragms w/Type 30 Spring Side Models
\ 4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket 4" | Heavy Duty “Long Life” Power Spring w/Additional Parking Force
m 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
q ' Epoxy Coated Return & Power Springs 4 | External Breather Tube
> e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
z /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield " | Epoxy Coated Center Case (Inside & Out)
U ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
> PIN Series 3538 3528 3531 3532 3536
w Model TR2424LTS TR2430LTS TR3030TS TR3036TS TR3636TS
U Size 2424 2430 3030 3036 3636
Stroke 250" (63.5 mm) 2.50” (63.5 mm) 2.50" (63.5 mm) 250" (63.5 mm) 3.00" (76.2 mm)
m PIN Combination SAE 3538051 3528051 3531051 3532051 3536051
—l P/N Combination 12" Rod* N/A 3528551* 3531551* N/A 3536551*
w P/N Combination 18" Rod* N/A 3528651* 3531651* N/A 3536651*
o P/N Neoprene Diaphragm N/A N/A 3531851 3532851 N/A
P/N Welded Yoke (2.25") N/A N/A 3531951 3532951 N/A
z PIN Piggyback Plus Kit SAE N/A N/A N/A N/A N/A
m P/N Combination METRIC 3538049 3528049 3531049 N/A N/A
Wt. Combination 16.6 b (7.5 kg) 18.21b (8.3 kg) 19.41b (8.8 kg) 26.51b (12.0 kg) 30.81b (14.0 kg)
Wt. Single N/A N/A N/A N/A N/A
A 8.52" (216.4 mm) 8.99” (228.4 mm) 9.04” (229.6 mm) 9.90" (251.5 mm) 11.08” (281.5 mm)
B 6.40” (162.6 mm) 6.87” (174.5 mm) 6.71” (170.4 mm) 7.54” (191.5 mm) 8.39" (213.1 mm)
C 7.197(182.7 mm) 7.19"(182.7 mm) 8.32" (211.3 mm) 8.32" (211.3 mm) 9.24” (234.6 mm)
D 7.34” (186.4 mm) 8.21” (208.5 mm) 8.21” (208.5 mm) 9.18” (233.2 mm) 9.18”(233.2 mm)
E 4.75" (120.7 mm)
B 5/8"- 11 UNC (M16 x 1.5 - 6g)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8" - 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

30



S-CAM/TR-TS

Standard Stroke Model
Replacement Parts
PIN Series 3538051 3528051 3531051 3532051 3536051
Model TR2424LTS | TR2430LTS TR3030TS TR3036TS TR3636TS
1 Kit - NP Chamber (a) 9015152 9015152 9015149 9015149 9015150
2 Kit - Nuts & Bolts 9003001 9003001 9003001 9003001 9003001
3 Clamp Band Assembly 8216025 8216025 8216045 8216045 8216036
4 Diaphragm 8017141 8017141 8017730 8017730 8017836
5 Kit - Push-Rod Assembly (a) SAE 9064002 9064002 9064003 9064003 9064004
5a | Kit- Push-Rod Assembly (a) METRIC 9064016 9064016 9064035 9064035 9064009
6 Return Spring 8068012 8068012 8068012 8068012 8068012
7 Kit - Center Hole Shield 9065002 9065002 9065002 9065002 9065002
8 NP Chamber Assembly (a) 9015151 9015151 9015122 9015122 9015108
9 Kit - Nuts & Washers SAE 9002001 9002001 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002 9002002 9002002 9002002
10 | Hex Nut- Yoke SAE 8130004 8130004 8130004 8130004 8130004
10a | Hex Nut- Yoke METRIC 8130016 8130016 8130016 8130016 8130016
1 Kit - Weatherseal™ Plug 9019005 9019005 9019005 9019006 9019006
12 | Kit - Release Bolt 9007003 9007003 9007003 9007009 9007009
13 | Kit - Breather Tube 9081001 9081001 9081001 9081001 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.
t

Welded Yoke Chamber

Y =2.25"
For more welded yoke choices, Epoxy Coated Components
see page 104-105 The center case and upper piston are epoxy coated for

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

extra added protection, which, along with our patented
— “corrosion fighter” technology, make MGM “Severe

Service” Chambers the best choice for severe operating
5/5a environments: such as acids, salt, liquid corrosives and
concrete.

lnebudes composite guide with

Corrosion /ibélfw ﬁoé/m/o;//:

o) e

- I
B2 -=r 8_
T "3 o |

\—10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

31

WWW.MGMBRAKES.COM




S-CAM/TR-TSHD

Standard Stroke Model
Combination Piggyback Plus Kit
VMRS# 013-004-000
A A
B N/A
Yla
\4
)
1 SN
Q :
>
z TR-TSHD Model Features
' Tamper Resistant Parking Chamber Design 4+ | Center Hole Diaphragms w/Type 30 Spring Side Models
\ 4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket 4" | Heavy Duty “Long Life” Power Spring w/Additional Parking Force
m 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
q ' Epoxy Coated Return & Power Springs 4 | External Breather Tube
> e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
z /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield " | Epoxy Coated Center Case (Inside & Out)
U ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
> PIN Series 3526 3533
w Model TR2430LTSHD TR3030TSHD
U Size 2430 3030
Stroke 2.50” (63.5 mm) 2.50” (63.5 mm)
m PIN Combination SAE 3526051 3533051
-l P/N Combination 12" Rod* N/A 3533551*
w PIN Combination 18" Rod* N/A 3533651*
o P/N Neoprene Diaphragm N/A 3533851
PIN Welded Yoke (2.25") N/A N/A
x P/N Piggyback Plus Kit SAE N/A N/A
m P/N Combination METRIC 3526049 3533049
Wt.Combination 18.6 b (8.4 k) 19.91b (9.0 kg)
Wt. Single N/A N/A
A 8.99” (228.4 mm) 9.04” (229.6 mm)
B 6.87" (174.5 mm) 6.71"(170.4 mm)
(o 7197 (182.7 mm) 8.32" (211.3 mm)
D 8.217 (208.5 mm) 8.217 (208.5 mm)
E 4.75" (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 6g)
G 5/8" - 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

32
WWW.MGMBRAKES.COM




S-CAM/TR-TSHD

Standard Stroke Model
Replacement Parts
PIN Series 3526051 3533051
Model TR2430LTSHD TR3030TSHD
1 Kit - NP Chamber (a) 9015152 9015149
2 Kit - Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017141 8017730
5 Kit - Push-Rod Assembly (a) SAE 9064002 9064003
5a | Kit- Push-Rod Assembly (a) METRIC 9064016 9064035
6 Return Spring 8068012 8068012
7 Kit - Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 9015151 9015122
9 Kit - Nuts & Washers SAE 9002001 9002001
9a Kit - Nuts & Washers METRIC 9002002 9002002
10 Hex Nut - Yoke SAE 8130004 8130004
10a | Hex Nut- Yoke METRIC 8130016 8130016
11 Kit - Weatherseal™ Plug 9019005 9019005
12 Kit - Release Bolt 9007003 9007003
13 | Kit - Breather Tube 9081001 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

/
[, Center Hole Shield
Permits visual inspection of stroke alert
5/5a \
but prevents entry of contaminants.
6

- I
B2 -=r 8_
T "3 o |

\—10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

33

WWW.MGMBRAKES.COM




S-CAM/TR-TSHDW

Standard Stroke Model

Combination

A

VMRS# 013-004-000

»
:

Piggyback Plus Kit

N/A

TR-TSHDW Model Features

5
>
=
' Tamper Resistant Parking Chamber Design 4+ | Center Hole Diaphragms w/Type 30 Spring Side Models
\ 4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4 | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket 4" | Heavy Duty “Long Life” Power Spring w/Additional Parking Force
m 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal ~ J4#* | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
q ' Epoxy Coated Return & Power Springs 4 | External Breather Tube
> e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 3'inch (76.2 mm) Long Stroke Increases Safety
z /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield " | Epoxy Coated Center Case (Inside & Out)
U ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
> PIN Series 3544
w Model TR3030TSHDW
w) Size 3030
Stroke 2.50” (63.5 mm)
m P/N Combination SAE 3544051
—| P/N Neoprene Diaphragm N/A
w PIN Welded Yoke (2.25") N/A
o P/N Piggyback Plus Kit SAE N/A
PIN Combination METRIC 3544049
z Wt. Combination 19.91b (9.0 kg)
m Wt. Single N/A
A 9.04” (229.6 mm)
B 6.71” (170.4 mm)
(] 8.32" (211.3 mm)
D 8.217 (208.5 mm)
E 4.75” (120.7 mm)
H 5/8”- 11 UNC (M16 x 1.5 - 69)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

34
WWW.MGMBRAKES.COM




S-CAM/TR-TSHDW

Standard Stroke Model
Replacement Parts
PIN Series 3544
Model TR3030TSHDW
1 Kit - NP Chamber (a) 9015149
2 Kit - Nuts & Bolts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017730
5 Kit - Push-Rod Assembly (a) SAE 9064003
5a Kit - Push-Rod Assembly (a) METRIC 9064035
6 Return Spring 8068012
7 Kit - Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015259
9 Kit - Nuts & Washers SAE 9002001
9a Kit - Nuts & Washers METRIC 9002002
10 Hex Nut - Yoke SAE 8130004
10a | Hex Nut - Yoke METRIC 8130016
1" Kit - Weatherseal™ Plug 9019005
12 Kit - Release Bolt 9007003
13 Kit - Breather Tube 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.
T —— 11

|

L
4
O
24
-
7))
Qo
4
<
Q
<
=
7))
~
=
<
7
)]

L

Weld Reinforced Non-Pressure Housing
5/%a Heavy-gauge formed steel flat-bottom design, epoxy coated for
total corrosion protection and “weld-reinforced” mounting studs
for added support in extreme vibration applications. (bolt actually
6 epoxy coated - depicted here lighter for visual purposes)

7

<
°

| | 8-

L

— \—10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

35
WWW.MGMBRAKES.COM




S-CAM/TR-LP3/TR-L3

Long Stroke Model

Combination Piggyback Plus Kit

VMRS# 013-004-001

D » | VMRS# 013-004-000
A A

<
<

"-C-
[:1/0

Py

A
Y

TR-LP3/TR-L3 Model Features

5
>
z ' Tamper Resistant Parking Chamber Design 4+ | Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4 | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
\ 4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket Heavy Duty “Long Life” Power Spring w/Additional Parking Force
w 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts**
- ' Epoxy Coated Return & Power Springs External Breather Tube
~ e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 4 | 3inch (76.2 mm) Long Stroke Increases Safety
F /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
o ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z PIN Series 3220 3224 3230 3234**
Model TR2030LP3H TR2430LP3 TR3030LP3 TR3036L3
m Size 2030 2430 3030 3036
m Stroke 3.00” (76.2 mm) 3.00” (76.2 mm) 3.00” (76.2 mm) 3.00” (76.2 mm)
q P/N Combination SAE 3220051 3224051 3230051 3234051
P/N Combination 12" Rod* N/A 3224551* 3230551* N/A
w P/N Combination 18" Rod* N/A 3224651* 3230651* N/A
o P/N Neoprene Diaphragm N/A 3224851 3230851 N/A
x PIN Welded Yoke (2.25") 3220951 3224951 3230951 3234951
m P/N Piggyback Plus Kit SAE 3220008 3224008 3230008 3234008
P/N Combination METRIC 3220049 3224049 3230049 3234049
Wt. Combination 19.11b (8.7 kg) 19.31b (8.8 kg) 20.11b (9.1kg) 26.91b (12.2kg)
Wt. Single 11.51b (5.2 kg) 11.51b (5.2 kg) 11.51b (5.2 kg) 18.31b (8.3 kg)
A 10.19” (258.8 mm) 10.19” (258.8 mm) 9.99" (253.7 mm) 10.96” (278.4 mm)
B 7.817 (198.4 mm) 7.817 (198.4 mm) 7.617 (193.3 mm) 8.62" (218.9 mm)
C 7.38”(187.5 mm) 7.38”(187.5 mm) 8.32" (211.3 mm) 8.14” (206.8 mm)
D 8.21" (208.5 mm) 8.21” (208.5 mm) 8.217(208.5 mm) 9.18" (233.2 mm)
E 4.75” (120.7 mm)
F 5/8"- 11 UNC (M16 x 1.5 - 6g)
G 5/8”- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.
** Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts in this model.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

36




S-CAM/TR-LP3/TR-L3

Long Stroke Model
Replacement Parts
PIN Series 3220 3224 3230 3234
Model TR2030LP3H TR2430LP3 TR3030LP3 TR3036LP3
1 Kit - NP Chamber (a) 9015231 9015210 9015212 9015906
2 Kit - Nuts & Bolts 9003001 9003001 9003001 9003001
3 | Clamp Band Assembly 8216027 8216025 8216045 8216045
4 Diaphragm 8017226 8017424 8017830 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064026 9064006 9064008 9064008
5a | Kit - Push-Rod Assembly (a) METRIC 9064036 9064027 9064028 9064028
Return Spring 8068012 8068012 8068012 8068017
7 Kit - Center Hole Shield 9065002 9065002 9065002 9065002
8 NP Chamber Assembly (a) 8215200 8215200 8215501 9015935
9 Kit - Nuts & Washers SAE 9002001 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002 9002002 9002002 w
10 | Hex Nut- Yoke SAE 8130004 8130004 8130004 8130004 !
10a ] Hex Nut - Yoke METRIC 8130016 8130016 8130016 8130016 o
11 | Kit - Weatherseal™ Plug 9019005 9019005 9019005 9019006
12 | Kit - Release Bolt 9007003 9007003 9007003 9007009 m
13 | Kit - Piggyback Plus SAE 3220008 3224008 3230008 3234008 P
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9 m
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9 w
NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units. z
— @)
z d
: pOR !
ﬁi?u zjo0s" 3
—FIGHTER®—
~
TECHNOLOGY
Composite Guide - A Standard Feature z
Constructed from heavy-duty, non-metallic
composite material. Available on all <
TR - Long Stroke model chambers. U
1
Note: guide is depicted in m

orange for visual purposes.

5/5a

L I - ]

_‘ \i 10/10a

9/9a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

37
WWW.MGMBRAKES.COM




S-CAM/TR-LP3HD

Long Stroke Model
Combination Piggyback Plus Kit
< ) > | VMRS# 013-004-000 VMRS# 013-004-001
A A
A
|;_:||
1 J
) !
g
> TR-LP3HD Model Features
z ' Tamper Resistant Parking Chamber Design 4+ | Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug ' | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
\ 4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket 4/ | Heavy Duty “Long Life” Power Spring w/Additional Parking Force
w 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
: ' Epoxy Coated Return & Power Springs External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 4 | 3inch (76.2 mm) Long Stroke Increases Safety
F /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
o ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z PIN Series 3226 3232
m Model TR2430LP3HD TR3030LP3HD
Size 2430 3030
m Stroke 3.00” (76.2 mm) 3.00” (76.2 mm)
q P/N Combination SAE 3226051 3232051
w P/N Combination 12" Rod* 3226551* 3232551*
PIN Combination 18" Rod* 3226651 3232651* Welded Yoke Chamber
o P/N Neoprene Diaphragm N/A 3232851
x PIN Welded Yoke (2.25") 3226951 3232951
m PIN Piggyback Plus Kit SAE 3226008 3232008
P/N Combination METRIC 3226049 3232049
Wt. Combination 19.51b (8.8 kg) 20.41b (9.3 kg)
Wt. Single 11.71b (5.3 kg) 11.71b (5.3 kg)
A 10.19” (258.8mm) 9.99” (253.7 mm)
B 7.817(198.4 mm) 7.617(193.3 mm)
C 7.38” (187.5 mm) 8.32” (211.3 mm) Y =225
D 8.21” (208.5 mm) 8.21” (208.5 mm) For more welded yoke choices,
E 475 (120.7 mm) s0¢ page 104105
F 5/8”- 11 UNC (M16 x 1.5 - 69)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N's ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

38




S-CAM/TR-LP3HD

Long Stroke Model
Replacement Parts
PIN Series 3226 3232
Model TR2430LP3HD TR3030LP3HD
1 Kit - NP Chamber (a) 9015210 9015212
2 Kit - Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017424 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064006 9064008
5a Kit - Push-Rod Assembly (a) METRIC 9064027 9064028
6 Return Spring 8068012 8068012
7 Kit - Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 8215200 8215501
9 Kit - Nuts & Washers SAE 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002
10 ] Hex Nut- Yoke SAE 8130004 8130004
10a | Hex Nut - Yoke METRIC 8130016 8130016
11 | Kit - Weatherseal™ Plug 9019005 9019005
12 | Kit - Release Bolt 9007003 9007003
13 | Kit - Piggyback Plus SAE 3226008 3232008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

L
4
O
o
-
7))
O
=
O
—
™
~
=
<L
i
)]

Center Hole Shield
5/5a Allows for visual inspection of stroke alert
while preventing entry of contaminants.

8
L -]
= =190

_i \i 10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

39

WWW.MGMBRAKES.COM




S-CAM/TR-LP3T/TR-L3T

Long Stroke Model

Combination Piggyback Plus Kit

VMRS# 013-004-001

» | VMRS# 013-004-000
WY

A

< c >
TR-LP3T/L3T Model Features
7' Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
JI Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4| Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models

Jl A360 Aluminum Center Case w/Release Bolt Storage Pocket Heavy Duty “Long Life” Power Spring w/Additional Parking Force

JI Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts**

W Epoxy Coated Return & Power Springs +/"| External Breather Tube

vy Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 4] 3inch (76.2 mm) Long Stroke Increases Safety

4| Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)

v Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)

P
(@
>
<
~
e
-
O
<
Q)
)
-
.
O
o)
m

P/IN Series 3221 3225 3231 3235™
Model TR2030LP3TH TR2430LP3T TR3030LP3T TR3036L3T
Size 2030 2430 3030 3036
Stroke 3.00" (76.2 mm) 3.00" (76.2 mm) 3.00" (76.2 mm) 3.00"(76.2 mm
P/N Combination SAE 3221051 3225051 3231051 3235051
P/N Combination 12" Rod* N/A 3225551* 3231551* N/A
P/N Combination 18” Rod* N/A N/A 3231651* N/A
P/N Neoprene Diaphragm N/A 3225851 3231851 N/A
PIN Welded Yoke (2.25") N/A 3225951 3231951 3235951
PIN Piggyback Plus Kit SAE 3221008 3225008 3231008 3235008
P/N Combination METRIC 3221049 3225049 3231049 3235049
Wt. Combination 19.11b (8.7 kg) 19.31b (8.8 kg) 20.11b (9.1 kg) 26.91b (12.2 kg)
Wt. Single 11.51b (5.2 kg) 11.51b (5.2 kg) 11.51b (5.2 kg) 18.31b (8.3 kg)
A 10.19” (258.8 mm) 10.19” (258.8 mm) 9.99" (253.7 mm) 10.96" (278.4 mm)
B 7.817(198.4 mm) 7.81"(198.4 mm) 7.61"(193.3 mm) 8.62" (218.9 mm)
C 7.38°(187.5 mm) 7.38(187.5 mm) 8.32" (211.3 mm) 8.14” (206.8 mm)
D 8.217(208.5 mm) 8.21" (208.5 mm) 8.21" (208.5 mm) 9.18"(233.2 mm)
E 4.75" (120.7 mm)
F 5/8” - 11 UNC (M16 x 1.5 - 6g)
G 5/8” - 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8” - 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.
** Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts in this model.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
40
WWW.MGMBRAKES.COM




S-CAM/TR-LP3T/TR-L3T

Long Stroke Model
Replacement Parts
PIN Series 3221 3225 3231 3235
Model TR2030LP3TH TR2430LP3T TR3030LP3T TR3036LP3T
1 Kit - NP Chamber (a) 9015232 9015215 9015218 9015905
2 Kit - Nuts & Bolts 9003001 9003001 9003001 9003001
3 Clamp Band Assembly 8216027 8216025 8216045 8216045
4 Diaphragm 8017226 8017424 8017830 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064026 9064006 9064008 9064008
5a | Kit- Push-Rod Assembly (a) METRIC 9064036 9064027 9064028 9064028
6 Return Spring 8068012 8068012 8068012 8068017
7 Kit - Center Hole Shield 9065002 9065002 9065002 9065002
8 NP Chamber Assembly (a) 9015213 9015213 9015122 9015936
9 Kit - Nuts & Washers SAE 9002001 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002 9002002 9002002
10 | Hex Nut- Yoke SAE 8130004 8130004 8130004 8130004
10a J Hex Nut- Yoke METRIC 8130016 8130016 8130016 8130016
11 | Kit - Weatherseal™ Plug 9019005 9019005 9019005 9019006
12 | Kit - Release Bolt 9007003 9007003 9007003 9007009
13 | Kit - Breather Tube 9081001 9081001 9081001 9081001
14 | Kit - Piggyback Plus SAE 3221008 3225008 3231008 3235008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

L
X
O
ol
-
7))
O
=
O
—
™
~
>3
<L
i
)]

e —
I ]12
External Breather-Tube
Vents air from inside the protected area of
3 the non-pressure chamber to effectively
14 prevent entry of liquid and solid corrosive
H\ contaminants that can cause premature
| /2 failure of the spring brake chamber.
b »
AN ,
— 4
5/5a

=
- L

\—1 0r10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

41
WWW.MGMBRAKES.COM




S-CAM/TR-LP3THD

Long Stroke Model

Combination Piggyback Plus Kit

VMRS# 013-004-001

< D » | VMRS# 013-004-000
WY

A

P
O ) c "
> TR-LP3THD Model Features
z ' Tamper Resistant Parking Chamber Design 4 | Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4 | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
\ 4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket e Heavy Duty “Long Life” Power Spring w/Additional Parking Force
w 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
: ' Epoxy Coated Return & Power Springs ' | External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 4 | 3inch (76.2 mm) Long Stroke Increases Safety
F /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
o ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z PIN Series 3227 3233
m Mc.JdeI TR2430LP3THD TR3030LP3THD Welded Yoke Chamber
Size 2430 3030
m Stroke 3.00" (76.2 mm) 3.00" (76.2 mm)
q P/N Combination SAE 3227051 3233051
w PIN Combination 12’ Rod* N/A 3233551
o P/N Combination 18" Rod* N/A 3233651*
P/N Neoprene Diaphragm 3227851 N/A
x PIN Welded Yoke (2.25") 3227951 3233951
m PIN Piggyback Plus Kit SAE 3227008 3233008
P/N Combination METRIC 3227049 3233049 Y =2.25”
Wt. Combination 19.51b (8.8 kg) 20.41b (9.3 kg) For more wodod yoke choloes,
Wt. Single 11.7 b (5.3 kg) 11.71b (5.3 kg) see page 104-105
A 10.19” (258.8 mm) 9.99" (253.7 mm)
B 7.817(198.4 mm) 7.617(193.3 mm)
C 7.38” (187.5 mm) 8.32" (211.3 mm)
D 8.21” (208.5 mm) 8.21” (208.5 mm)
E 475" (120.7 mm)
B 5/8”- 11 UNC (M16 x 1.5 - 6g)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8” - 18 NPTF (M16 x 1.5 - 6H)

X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
42
WWW.MGMBRAKES.COM




S-CAM/TR-LP3THD

Long Stroke Model
Replacement Parts
PIN Series 3227 3233
Model TR2430LP3THD TR3030LP3THD
1 Kit - NP Chamber (a) 9015215 9015218
2 Kit - Bolts & Nuts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017424 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064006 9064008
5a | Kit - Push-Rod Assembly (a) METRIC 9064027 9064028
6 Return Spring 8068012 8068012
7 | Kit- Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 9015213 9015122
9 Kit - Nuts & Washers SAE 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002
10 Hex Nut - Yoke SAE 8130004 8130004
10a | Hex Nut- Yoke METRIC 8130016 8130016
1" Kit - Weatherseal™ Plug 9019005 9019005
12 | Kit - Release Bolt 9007003 9007003
13 | Kit - Breather Tube 9081001 9081001
14 | Kit - Piggyback Plus 3227008 3233008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

L
4
O
o
-
7))
O
=
O
—
™
~
=
<L
i
)]

_ I“-r-' — 11
l_ }12
Center Seal (Push-Rod Air Seal)
13 Multi-lipped, pressure activated seal — an
L 14 MGM exclusive - molded from specially
H \ formulated low-temperature-resistant Nitrile
o 2 Rubber, providing long-term protection
¥ » against air leaks. Nylon guides eliminate
3 metal to metal contact and premature
— failure in this critical area.
5/5a
=
6
O -
o_ |
3 L3 oo

10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

43
WWW.MGMBRAKES.COM




S-CAM/TR-LP3THDW

Long Stroke Model
Combination Piggyback Plus Kit
< D » | VMRS# 013-004-000 !
A A
A N/A
Y
P
O ) c "
> TR-LP3THDW Model Features
z ' Tamper Resistant Parking Chamber Design 4 | Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4 | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
\ 4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket e Heavy Duty “Long Life” Power Spring w/Additional Parking Force
w 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal " | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
: ' Epoxy Coated Return & Power Springs ' | External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 4 | 3inch (76.2 mm) Long Stroke Increases Safety
F /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Epoxy Coated Center Case (Inside & Out)
o ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z P/N Series 3244
m Model TR3030LP3THDW
Sz 3030 Welded Yoke Chamber
()] Stroke 3.00° (76.2 mm)
| PIN Combination SAE 3244051
w P/N Combination 12" Rod* 3244551*
P/N Combination 18” Rod* N/A 1.3"(33 mm)
o P/N Neoprene Diaphragm N/A
x PIN Welded Yoke (2.25") 3244951
m P/N Piggyback Plus Kit SAE N/A
P/N Combination METRIC 3244049
Wt. Combination 20.41b (9.3 kg) Y =2.25”
Wt Single N/A For more welded yoke choices,
A 9.99” (253.7 mm) see page 104-105
B 7.617(193.3 mm)
C 8.32" (211.3 mm)
D 8.217 (208.5 mm)
E 4.75" (120.7 mm)
F 5/8"- 11 UNC (M16 x 1.5 - 69)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

44
WWW.MGMBRAKES.COM




S-CAM/TR-LP3THDW

Long Stroke Model
Replacement Parts
PIN Series 3244
Model TR3030LP3THDW
1 Kit - NP Chamber (a) 9015936
2 Kit - Bolts & Nuts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064008
5a | Kit- Push-Rod Assembly (a) METRIC 9064028
Return Spring 8068012
7 Kit - Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015259
9 Kit - Nuts & Washers SAE 9002001
9a Kit - Nuts & Washers METRIC 9002002
10 Hex Nut - Yoke SAE 8130004
10a | Hex Nut - Yoke METRIC 8130016
" Kit - Weatherseal™ Plug 9019005
12 | Kit - Release Bolt 9007003
13 | Kit- Breather Tube 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

—n

| J

L
X
O
ol
-
7))
O
=
O
—
™
~
>3
<L
i
)]

— Weld Reinforced Non-Pressure Housing
Heavy-gauge formed steel flat-bottom design, epoxy coated for
total corrosion protection and “weld-reinforced” mounting studs
for added support in extreme vibration applications. (bolt actually
epoxy coated - depicted here lighter for visual purposes)

5/5a

W
3T '::I~9/9a

10/10a
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

45

WWW.MGMBRAKES.COM




S-CAM/TR-LP3TS

Long Stroke Model
Combination Piggyback Plus Kit
< D » VMRS# 013-004-000 !
A A
B
. N/A
\a
\J
n -
Q) . G
> TR-LP3TS Model Features
z ' Tamper Resistant Parking Chamber Design 4 | Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4 | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
\ 4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket Heavy Duty “Long Life” Power Spring w/Additional Parking Force
w 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
: ' Epoxy Coated Return & Power Springs ' | External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing " | 3inch (76.2 mm) Long Stroke Increases Safety
F /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield 4 | Epoxy Coated Center Case (Inside & Out)
o ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z PIN Series 3523 3535
m Model TR2430LP3TS TR3030LP3TS
Size 2430 3030 Welded Yoke Chamber
m Stroke 3.00" (76.2 mm) 3.00" (76.2 mm)
q PIN Combination SAE 3523051 3535051
w P/N Combination 12" Rod* N/A 3535551
P/N Combination 18" Rod* N/A 3535651*
o P/N Neoprene Diaphragm N/A 3535851
x P/N Welded Yoke (2.25") 3523951 3535951
m PIN Piggyback Plus Kit SAE N/A N/A
P/N Combination METRIC 3523049 3535049
Wt. Combination 19.31b (8.8 kg) 20.11b (9.1 kg) Y =2.25”
Wt Single N/A NA For more welded yoke choices,
A 10.19” (258.8mm) 9.99” (253.7 mm) see page 104-105
B 7.817 (198.4 mm) 7.617(193.3 mm)
C 7.38"(187.5 mm) 8.32" (211.3 mm)
D 8.217 (208.5 mm) 8.217 (208.5 mm)
E 4.75” (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 69)
G 5/8”- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
46
WWW.MGMBRAKES.COM




S-CAM/TR-LP3TS

Long Stroke Model
Replacement Parts
PIN Series 3523 3535
Model TR2430LP3TS TR3030LP3TS
1 Kit - NP Chamber (a) 9015215 9015218
2 | Kit- Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 | Diaphragm 8017424 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064006 9064008
5a | Kit- Push-Rod Assembly (a) METRIC 9064027 9064028
6 Return Spring 8068012 8068012
7 | Kit- Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 9015213 9015122
9 | Kit- Nuts & Washers SAE 9002001 9002001
9a [ Kit- Nuts & Washers METRIC 9002002 9002002
10 | Hex Nut- Yoke SAE 8130004 8130004
10a | Hex Nut - Yoke METRIC 8130016 8130016
1" Kit - Weatherseal™ Plug 9019005 9019005
12 | Kit - Release Bolt 9007003 9007003
13 | Kit - Breather Tube 9081001 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

Epoxy Coated Components
The center case and upper piston are epoxy coated for
extra added protection, which, along with our patented
“corrosion fighter” technology, make MGM “Severe
Service” Chambers the best choice for severe operating
55a environments: such as acids, salt, liquid corrosives and
concrete.

» % Inebudes composite /a/&/@ with

L
4
O
o
-
7))
O
=
O
—
™
~
=
<L
i
)]

Corrosion @/éte/* ﬁaé/m/a/f;

. ‘.‘}glga
- 10/10a
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

47
WWW.MGMBRAKES.COM




S-CAM/TR-LP3TSHD

Long Stroke Model
Combination Piggyback Plus Kit
< D » VMRS# 013-004-000 !
A A
B
. N/A
\a
\J
n -
Q) . G
> TR-LP3TSHD Model Features
z ' Tamper Resistant Parking Chamber Design 4 | Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4 | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
\ 4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket e Heavy Duty “Long Life” Power Spring w/Additional Parking Force
w 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
: ' Epoxy Coated Return & Power Springs ' | External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing " | 3inch (76.2 mm) Long Stroke Increases Safety
F /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield 4 | Epoxy Coated Center Case (Inside & Out)
o ey Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z PIN Series 3527 3534
m Model TR2430LP3TSHD TR3030LP3TSHD
Size 2430 3030
m Stroke 3.00” (76.2 mm) 3.00” (76.2 mm)
q P/N Combination SAE 3527051 3534051
w P/N Combination 12" Rod* N/A 3534551*
o PIN Combination 18’ Rod* N/A 3534651 Welded Yoke Chamber
P/N Neoprene Diaphragm 3527851 N/A
x PIN Welded Yoke (2.25") 3527951 3534951
m P/N Piggyback Plus Kit SAE N/A N/A
P/N Combination METRIC 3527049 3534049
Wt.Combination 19.51b (8.8 kg) 20.41b (9.3 kg)
Wt. Single N/A N/A
A 10.19” (258.8mm) 9.99” (253.7 mm)
B 7.817(198.4 mm) 7.617(193.3 mm)
c 7.38" (187.5 mm) 8.32' (211.3 mm) Y =225
D 8.21” (208.5 mm) 8.21” (208.5 mm) For more welded yoke choices,
see page 104-105
E 4.75" (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 6g)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
48
WWW.MGMBRAKES.COM




S-CAM/TR-LP3TSHD

Long Stroke Model
Replacement Parts
PIN Series 3527 3534
Model TR2430LP3TSHD TR3030LP3TSHD
1 Kit - NP Chamber (a) 9015215 9015218
2 Kit - Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017424 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064006 9064008
5a | Kit - Push-Rod Assembly (a) METRIC 9064027 9064028
6 Return Spring 8068012 8068012
7 Kit - Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 9015213 9015122
9 Kit - Nuts & Washers SAE 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002
10 ] Hex Nut- Yoke SAE 8130004 8130004
10a | Hex Nut- Yoke METRIC 8130016 8130016
1" Kit - Weatherseal™ Plug 9019005 9019005
12 | Kit - Release Bolt 9007003 9007003
13 | Kit - Breather Tube 9081001 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

3

T 1

i—l|

L
4
O
o
-
7))
O
=
O
—
™
~
=
<L
i
)]

Center Hole Diaphragm
I Patented feature that aligns the piston,

5/5a diaphragm, power spring and internal push-rod
providing the following advantages: Maintains

component alignment; reduces power spring

B % 6 stress; reduces coil clash; increases center-seal
life and eliminates the effects of severe vibration.

> ™ ';'}glga
— 10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

49
WWW.MGMBRAKES.COM




S-CAM/TR-LP3TSHDW

Long Stroke Model
Combination Piggyback Plus Kit
< D » VMRS# 013-004-000 !
A A
B
A N/A
\a
\J
n -
Q) . G
> TR-LP3TSHDW Model Features
z ' Tamper Resistant Parking Chamber Design 4 | Center Hole Diaphragms w/Type 30 Spring Side Models
4" | Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug 4 | Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
\ 4/ | A360 Aluminum Center Case wiRelease Bolt Storage Pocket e Heavy Duty “Long Life” Power Spring w/Additional Parking Force
w 4 | Low Friction Internal Push-Rod Polymer Guide wiNitrile Rubber Air Seal " | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
: ' Epoxy Coated Return & Power Springs ' | External Breather Tube
e Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing " | 3inch (76.2 mm) Long Stroke Increases Safety
F /' | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield 4 | Epoxy Coated Center Case (Inside & Out)
o v‘ Heavy Duty Reinforced Diaphragms (Oil Resistant Options Available)
z PIN Series 3545
m Model TR3030LP3TSHDW
Size 3030
T | e Welded Yok Chamber
w PIN Neoprene Diaphragm N/A
o PIN Welded Yoke (2.25") 3545951
P/N Piggyback Plus Kit SAE N/A
x P/N Combination METRIC 3545049
m Wt. Combination 20.41b (9.3 kg)
Wt. Single N/A
A 9.99” (253.7 mm)
B 7.617(193.3 mm) Y = 2.25”
< 8.32 (2113 mm) For more welded yoke choices,
D 8.217(208.5 mm) see page 104-105
E 4.75" (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 69)
G 5/8"- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
50
WWW.MGMBRAKES.COM




S-CAM/TR-LP3TSHDW

Long Stroke Model
Replacement Parts
PIN Series 3545
Model TR3030LP3TSHDW
1 Kit - NP Chamber (a) 9015905
2 Kit - Nuts & Bolts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064008
5a | Kit - Push-Rod Assembly (a) METRIC 9064028
6 Return Spring 8068012
7 Kit - Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015259
9 Kit - Nuts & Washers SAE 9002001
9a | Kit- Nuts & Washers METRIC 9002002
10 ] Hex Nut- Yoke SAE 8130004
10a | Hex Nut- Yoke METRIC 8130016
1 Kit - Weatherseal™ Plug 9019005
12 | Kit - Release Bolt 9007003
13 | Kit - Breather Tube 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke & Welded Yoke Assemblies For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

L
X
O
ol
-
7))
O
=
O
—
™
~
>3
<L
i
)]

Weld Reinforced Non-Pressure Housing
— Heavy-gauge formed steel flat-bottom design, epoxy coated for
total corrosion protection and “weld-reinforced” mounting studs
for added support in extreme vibration applications. (bolt actually
epoxy coated - depicted here lighter for visual purposes)

I~ ‘.‘}g/ga
- 10/10a
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

51
WWW.MGMBRAKES.COM




)k
Q)
>
=
~
F
@)
2
)
F
-
m
m

S-CAM/LTR-T

Standard Stroke Model

Combination

Piggyback Plus Kit

VMRS# 013-004-000

VMRS# 013-004-001

LTR-T Model Features

Center Hole Diaphragms w/Type 30 Spring Side Models

Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models

Heavy Duty “Long Life” Power Spring with Additional Parking Force
LTR Model: 90 Ib. (40.8 kg) @ 1.25 in (31.8 mm) of Stroke

Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts

External Breather Tube

3in (76.2 mm) Long Stroke Increases Safety

W

6 Year Limited Warranty

v Tamper Resistant Parking Chamber Design
47| A360 Aluminum Power Spring Head w/Integrated Spring Release Bolt
™ Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing
4/ Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal
/] Epoxy Coated Return & Power Springs
4] A360 Aluminum Center Case
vy Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield
vy Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
PIN Series 3827 3831
Model LTR2430LT LTR3030T
Size 2430 3030
Stroke 2.50” (63.5 mm) 2.50” (63.5mm)
P/N Combination SAE 3827051 3831051
P/N Combination 12" Rod* N/A 3831551*
P/N Combination 18" Rod* N/A 3831651*
PIN Neoprene Diaphragm N/A N/A
PIN Welded Yoke (2.25") N/A N/A
PIN Piggyback Plus Kit SAE 3827008 3831008
P/N Combination METRIC bl i
Wt.Combination 18.51b (8.4 kg) 19.91b (9.0 kg)
Wt. Single 11.41b (5.2 kg) 11.7 b (5.3 kg)
A 11.8”(299.7 mm) | 11.86" (301.2 mm)
B 9.68" (245.9 mm) | 9.46” (240.3 mm)
C 7.38"(187.5mm) | 8.27"(210.1 mm)
D 8.18”(207.8 mm) | 8.18"(207.8 mm)
E 4.75" (120.7 mm)
F 5/8"- 11 UNC (M16 x 1.5 - 69)
G 5/8”- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16x 1.5 - 6H)

X - Min. (in the caged position)

8.00” (203.2 mm)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in

XXXX651 have 3/4” push-rod.

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

52




S-CAM/LTR-T

Standard Stroke Model
Replacement Parts
PIN Series 3827 3831
Model LTR2430LT LTR3030T
1 Kit - NP Chamber (a) 9015152 9015157
2 | Kit- Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017141 8017730
5 Kit - Push-Rod Assembly (a) SAE 9064002 9064003
5a | Kit- Push-Rod Assembly (a) METRIC FEE FEE
6 Return Spring 8068002 8068002
7 | Kit- Center Hole Shield 9065002 9065002
8 NP Chamber Assembly (a) 9015151 9015122
9 Kit - Nuts & Washers SAE 9002001 9002001
9a Kit - Nuts & Washers METRIC FhE FhE
10 ] Hex Nut- Yoke SAE 8130004 8130004
10a | Hex Nut- Yoke METRIC il il
11 | Kit - Breather Tube 9081001 9081001 m
12 | Piggyback Plus Kit SAE 3827008 3831008 m
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9 H
Yoke Assembly For additional replacement parts, refer to Section 9 J
Boot & Retainer For additional replacement parts, refer to Section 9 w
_ NOTE: (a) To ensure correct stroke alert indicator positioning, these kits must be used only in the designated MGM Brakes units. z
O
—d
12 — | \
1 z
L] L]
===\ <
a— (@
s y o I
N 7y
‘ Integral Manual Release Bolt
~y Permanently installed, can’t get lost.
_ Permits safe, easy release to reline
brakes or move vehicle in absence of
55a air pressure.
1
-
o
= 7
8
= ‘ﬁ} 9/9a
— ¥ ¥
10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com

53

WWW.MGMBRAKES.COM




)k
Q)
>
=
~
F
@)
2
)
F
-
m
m

S-CAM/LTR-L3

Long Stroke Model

Combination

Piggyback Plus Kit

A
\

VMRS# 013-004-000

A

4

A

VMRS# 013-004-001

LTR-L3 Model Features

Tamper Resistant Parking Chamber Design

Center Hole Diaphragms w/Type 30 Spring Side Models

A360 Aluminum Power Spring Head w/Integrated Spring Release Bolt

Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models

Heavy Duty “Long Life” Power Spring w/Additional Parking Force
LTR Model: 90 Ib. (40.8 kg) @ 1.25 in (31.8 mm) of Stroke

Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts

External Breather Tube

3in (76.2 mm) Long Stroke Increases Safety

6 Year Limited Warranty

4
4
™ Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing ™
4/ Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal
/] Epoxy Coated Return & Power Springs
4] A360 Aluminum Center Case +
vy Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield
vy Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
PIN Series 3828 3832
Model LTR2430L3 LTR3030L3
Size 2430 3030
Stroke 3.00” (76.2 mm) 3.00” (76.2 mm)
P/N Combination SAE 3828051 3832051
P/N Combination 12" Rod* N/A 3832551*
P/N Combination 18” Rod* N/A 3832651*
P/N Neoprene Diaphragm N/A N/A
PIN Welded Yoke (2.25") 3828951 3832951
PN Piggyback Plus Kit SAE 3828008 3832008

P/N Combination METRIC

*kk

*kk

Welded Yoke Chamber

Wt.Combination 1930 (88ky) | 2051 (93kg) Y e 205
W, Single 123 (56kg) | 126 (5.7 kg)
A 13.0° (3302mm) | 130" (330.2mm) e page k08
B 10.63' (270.0 mm) | 1063 (270.0 mm)
C 738" (1875mm) | 8.27" (210.1 mm)
D 8.18 (2078 mm) | 8.18' (207.8 mm)
E 475" (1207 mm)
F 5/8" - 11 UNC (M16 x 1.5 - bg)

G 5/8” - 18 UNF (M16 x 15 - 6g)
3/8" - 18 NPTF (M16 x 1.5 - 6H)
8.00” (203.2 mm)

Inlet
s * For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in

XXXX651 have 3/4” push-rod.

X - Min. (in the caged position)

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

54
WWW.MGMBRAKES.COM




S-CAM/LTR-L3

Long Stroke Model
Replacement Parts
PIN Series 3828 3832
Model LTR2430L3 LTR3030L3
1 Kit - NP Chamber (a) 9015210 9015212
2 Kit - Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216025 8216045
4 Diaphragm 8017424 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064006 9064008
5a | Kit- Push-Rod Assembly (a) METRIC i b
6 Return Spring 8068012 8068012
7 | Kit - Center Hole Shield 9065002 9065002
8 | NP Chamber Assembly (a) 8215200 8215501
9 Kit - Nuts & Washers SAE 9002001 9002001
9a [ Kit- Nuts & Washers METRIC i b
10 | Hex Nut - Yoke SAE 8130004 8130004
10a | Hex Nut - Yoke METRIC i b
1 Kit - Piggyback Plus SAE 3828008 3832008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert indicator positioning, these kits must be used only in the designated MGM Brakes units.

= B oo 8 1
= \ e } 99
10/10a
*** For information on availability, contact MGM Brakes Customer Service,

1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

L 5/5a
8
L 2
-
=

55

Center Hole Shield
Allows for visual inspection of stroke alert while
preventing entry of contaminants.

WWW.MGMBRAKES.COM

S-CAM / LONG LIFE




S-CAM/LTR-L3W

Long Stroke Model

Combination

Piggyback Plus Kit

A
\

VMRS# 013-004-000

A\ A

N/A

LTR-L3W Model Features

|m 4| Tamper Resistant Parking Chamber Design Center Hole Diaphragms w/Type 30 Spring Side Models
n +/] A360 Aluminum Power Spring Head w/Integrated Spring Release Bolt Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
> ™ Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing " g E.?;V,\),’l gjatls:l glbolgg (I:J)eg ig;\g 18’;%”3] \E‘gzh? id,:i)ogf Isf’r?)::ng Force
3 4/ Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal 4/ | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
/] Epoxy Coated Return & Power Springs External Breather Tube
\ 4] A360 Aluminum Center Case +#13in (76.2 mm) Long Stroke Increases Safety
F vy Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield 6 Year Limited Warranty
o vy Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z PIN Series 3844
Model LTR3030L3W
m Size 3030
- e 300 (62 mm) Welded Yoke Chamber
[ | P/N Combination SAE 3844051
. | P/N Combination 12” Rod"* 3844551
m P/N Combination 18" Rod* N/A
P/N Neoprene Diaphragm N/A
P/N Welded Yoke (2.25") 3844951
PIN Piggyback Plus Kit SAE N/A
P/N Combination METRIC wEE
Wt.Combination 20.51b (9.3 kg) Y = 2.25
Wt. Single N/A
For more welded yoke choices,
A 13.0” (330.2 mm) see page 104-105
B 10.63” (270.0mm)
C 8.27" (210.1 mm)
D 8.18" (207.8 mm)
E 4.75" (120.7 mm)
B 5/8”- 11 UNC (M16 x 1.5 - 6g)
G 5/8” - 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16x1.5-6H) * For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N's ending in
X - Min. (in the caged position) 8.00" (203.2 mm) XXXX651 have 3/4” push-rod.

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

56
WWW.MGMBRAKES.COM




S-CAM/LTR-L3W

Long Stroke Model
Replacement Parts
PIN Series 3844
Model LTR3030L3W
1 Kit - NP Chamber (a) N/A
2 | Kit- Nuts & Bolts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017830
5 Kit - Push-Rod Assembly (a) SAE 9064008
5a | Kit - Push-Rod Assembly (a) METRIC b
6 Return Spring 8068012
7 ] Kit- Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015260
9 Kit - Nuts & Washers SAE 9002001
9a | Kit- Nuts & Washers METRIC b
10 | Hex Nut- Yoke SAE 8130004
10a ] Hex Nut - Yoke METRIC i
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert indicator positioning, these kits must be used only in the designated MGM Brakes units.

S-CAM / LONG LIFE

5/5a /
Weld Reinforced Non-Pressure Housing
Heavy-gauge formed steel flat-bottom design, epoxy coated for
total corrosion protection and “weld-reinforced” mounting studs
-1 i for added support in extreme vibration applications. (bolt actually
= epoxy coated - depicted here lighter for visual purposes)

- = = 8 -
- ﬂ}gl%

10/10a

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

57

WWW.MGMBRAKES.COM



S-CAM/LTR-L3T

Long Stroke Model
Combination Piggyback Plus Kit
< > VMRS# 013-004-000
A A
N/A
A
m LTR-L3T Model Features
| v Tamper Resistant Parking Chamber Design Center Hole Diaphragms w/Type 30 Spring Side Models
n 47| A360 Aluminum Power Spring Head w/Integrated Spring Release Bolt Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
> ™ Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing g E?;V,\)Agjﬁl 9|60|?,g (%eg ig;\g 18’;%”31 g?%dm;r;aéfpgt?g;g o
3 4/ Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
/] Epoxy Coated Return & Power Springs 4| External Breather Tube
\ 4] A360 Aluminum Center Case [ 3in (76.2 mm) Long Stroke Increases Safety
F vy Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield +] 6 Year Limited Warranty
o vy Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
z PIN Series 3833
Model LTR3030L3T
m Size 3030
- TG 300" (76.2 mm) Welded Yoke Chamber
(== P/N Combination SAE 3833051
m P/N Combination 12" Rod* 3833551*
m PIN Combination 18" Rod* N/A
P/N Neoprene Diaphragm N/A
PIN Welded Yoke (2.25") 3833951
P/N Piggyback Plus Kit SAE N/A
P/N Combination METRIC wE
Wt.Combination 20.51b (9.3 kg) Y = 2.25"
Wt. Single N/A
For more welded yoke choices,
A 13.0" (330.2 mm) see page 104-105
B 10.63” (270.0mm)
C 8.27" (210.1 mm)
D 8.18”(207.8 mm)
E 4.75" (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 - 6g)
G 5/8”- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8"- 18 NPTF (M16x 1.5-6H) * For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N's ending in
X - Min. (in the caged position) 8.00” (203.2 mm) XXXXB51 have 3/4” push-rod.

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

58
WWW.MGMBRAKES.COM




S-CAM/LTR-L3T

Long Stroke Model
Replacement Parts
PIN Series 3833
Model LTR3030L3T
1 Kit - NP Chamber (a) N/A
2 | Kit- Nuts & Bolts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017830
5 | Kit - Push-Rod Assembly (a) SAE 9064003
5a | Kit - Push-Rod Assembly (a) METRIC b
6 Return Spring 8068012
7 ] Kit- Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015122
9 | Kit- Nuts & Washers SAE 9002001
9a | Kit- Nuts & Washers METRIC b
10 | Hex Nut- Yoke SAE 8130004
10a ] Hex Nut - Yoke METRIC i
11 | External Breather Tube 9081001
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert indicator positioning, these kits must be used only in the designated MGM Brakes units.

External Breather-Tube

Vents air from inside the protected
area of the non-pressure chamber to
effectively prevent entry of liquid and
solid corrosive contaminants that can
cause premature failure of the spring
brake chamber.

S-CAM / LONG LIFE

5/5a

e =

- P oo 8 1
99

10/10a

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

59

WWW.MGMBRAKES.COM



S-CAM/LTS

Long_] Stroke Model

Combination Piggyback Plus Kit

D » YMRS# 013-004-000 VMRS# 013-004-001

LTS Model Features

|m v Tamper Resistant Parking Chamber Design 4| Center Hole Diaphragms w/Type 30 Spring Side Models
n 47| A360 Aluminum Power Spring Head w/Integrated Spring Release Bolt 4| Corrosion Fighter Composite Spring Guide w/Type 30 Spring Side Models
> ™ Epoxy Coated Heavy-Duty Steel Non-Pressure Chamber Housing 4 E‘I?;ﬁo%ﬁ glbolr';g (I:l'(f)ea ':g;” g 18’;5'”'?] gﬁ%d::;r;ﬂfgﬁ;g Force
3 4/*] Low Friction Internal Push-Rod Polymer Guide with Nitrile Rubber Air Seal Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
/] Epoxy Coated Return & Power Springs 4| External Breather Tube
\ 4] A360 Aluminum Center Case v"l 3in (76.2 mm) Long Stroke Increases Safety
F vy Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield 6 Year Limited Warranty
o vy Heavy Duty Reinforced Diaphragms
z PIN Series LTS3030ET NOTE:
Model LTS3030ET 1. The LTS Long-Life chamber is available in long stroke (3.00”) for service on drum
m S 3030 braked vehicles only.
F Stroke 3.00" (76.2 mm) 2. The LTS Long-Life piggyback plus kit can be used as a replacement on the LTR-L3,
- PIN Combination SAE LTS3030ET051 LTR-L3W, and the LTR-L3T.
m P/N Combination 12" Rod* LTS3030ET551
m P/N Combination 18" Rod LTS3030ET651
P/N Neoprene Diaphragm N/A
PIN Welded Yoke (2.25") LTS3030ET951
P/N Piggyback Plus Kit SAE LTS3030ET008
PIN Combination METRIC LTS3030ET050
Wt.Combination 20.51b (9.3 kg)
Wt. Single 11.51b (5.2 kg)
A 10.5" (266.7 mm)
B 8.19” (208.0 mm)
C 8.27" (210.1 mm)
D 8.18” (207.8 mm)
E 4.75" (120.7 mm)
F 5/8”- 11 UNC (M16 x 1.5 -6g)
G 5/8”- 18 UNC (M16 x 1.5 -6g)
Inlets 3/8” - 18 NPTF (M16 x 1.5 -6H)
— ” * For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in
X - Min. (in the caged position) 8.00" (203.2 mm) LTSXXXXET651 have 3/4” push-rod.

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

60
WWW.MGMBRAKES.COM




S-CAM/LTS

Long Stroke Model

Replacement Parts
PIN Series LTS3030ET
Model LTS3030ET
1 Kit - NP Chamber (a) N/A
2 | Kit- Nuts & Bolts 9003001
3 Clamp Band Assembly 8216045
4 Diaphragm 8017830
5 Kit - Push-Rod Assembly (a) SAE 9054030
5a | Kit- Push-Rod Assembly (a) METRIC N/A
6 Return Spring 8068022
7 | Kit - Center Hole Shield 9065002
8 NP Chamber Assembly (a) 9015122
9 Kit - Nuts & Washers SAE 9002001
9a | Kit- Nuts & Washers METRIC N/A
10§ Hex Nut - Yoke SAE 8130004
10a J Hex Nut - Yoke METRIC N/A
11 | External Breather Tube 9081001
12 | Piggyback Plus Kit SAE LTS3030ET008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9
— N'OTE: (a) To ensure correct stroke alert indicator positioning, these kits must be used only in the designated MGM Brakes units.

A

1

2.5” HEIGHT REDUCTION

— 12

S-CAM / LONG LIFE

% S LTS3030ET LTR-L3T

NOTE: NPC shown here with welded yoke option.

110a

*** For information on availability, contact MGM Brakes Customer Service,
1-800-527-1534 (U.S. & Canada), or for International email: mail@mgmbrakes.com
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

61

WWW.MGMBRAKES.COM



P
Q)
>
=
~
v
i
n
-
o
2

S-CAM/MJ3S

Standard Stroke Model Performance Plus
Combination Piggyback Plus Kit
_ D . VMRS# 013-004-000 - VMRS# 013-004-001

MJS-AT 1.75” (44.5 mm) Model Features

4 | Tamper Resistant Parking Chamber Design Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
Epoxy Coated Steel Power Spring Head w/Integrated Release Bolt Y Lighter/Compact/Low Profile Design
4 | A360 Aluminum Center Case 4| Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
| Low Friction Intemal Push-Rod Polymer Guide wiNitrile Rubber Air Seal | +#] External Breather Tube
4 | Epoxy Coated Return & Power Springs 3in (76.2 mm) Long Stroke Increases Safety
4 | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
PIN Series MJS1216AT
Model MJS1216AT
Size 1216
Stroke 1.75" (44.5 mm)
P/N Combination SAE MJS1216AT051
P/N Welded Yoke (2.25") N/A
PN Piggyback Plus Kit SAE MJS1216AT008
P/N Combination METRIC MJS1216AT049
Wt.Combination 12.51b (5.7 kg)
Wt. Single 8.70 b (3.9 kg)
A 8.62" (218.9 mm)
B 6.59” (167.4 mm)
c 5.70” (144.8 mm)
D 6.46" (164.1 mm)
E 3.00” (76.2 mm)
B 7/16” - 14 UNC
G 1/2"-20 UNF (M16 x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X -Min (in the caged position) 8.00” (203.2 mm)

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

62



S-CAM/MJ3S

Performance Plus Standard Stroke Model
Replacement Parts
PIN Series MJS1216AT
Model MJS1216AT
1 Kit - NP Chamber (a) 9015242
2 Kit - Nuts & Bolts 9003002
3 Clamp Band Assembly 8216012
4 Diaphragm 8017312
5 Kit - Push-Rod Assembly (a) SAE 9064010
5a | Kit - Push-Rod Assembly (a) METRIC 9064034
6 Return Spring 8068007
7 NP Chamber Assembly (a) 8215198
8 Kit - Nuts & Washers SAE 9002003
9 Hex Nut - Yoke SAE 8130011
9a | Hex Nut- Yoke METRIC 8130016
10 | Kit - Breather Tube 9081001
11 Kit - Piggyback Plus SAE MJS1216AT008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly I For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert indicator positioning, these kits must be used only in the designated MGM Brakes units.

O
="\
2 Release Bolt

\ /3 Patented “Dual Thread Release Bolt”

design, an MGM Brakes exclusive,

-_ 4 provides minimal bolt protrusion at
— maximum release. (Approx. 1.00 inch

(25.4 mm) protrusion when manually
released)

=
O
-
(7))
T~
o
~
>3
<
<
/)

5/5a

® 8

L=
T

— ¥9/9a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

63
WWW.MGMBRAKES.COM




P
Q)
>
=
~
v
i
n
-
o
2

S-CAM/MJS

Long Stroke Model Performance Plus
Combination Piggyback Plus Kit
~ VMRS#013-004-000 VMRS# 013-004-001
B
A
-F
-G

MJS-ET 3.00” (76.2 mm) Model Features

W Tamper Resistant Parking Chamber Design Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
4" | Epoxy Coated Steel Power Spring Head w/lIntegrated Release Bolt . Lighter/Compact/Low Profile Design

4/ | A360 Aluminum Center Case 4/ | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts

*f Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal v" External Breather Tube

v Epoxy Coated Return & Power Springs + ] 3in (76.2 mm) Long Stroke Increases Safety

4" | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)

PIN Series MJS1724ET MJS2024ET
Model MJS1724ET MJS2024ET
Size 1724 2024
Stroke 3.00” (76.2 mm) 3.00" (76.2 mm)
P/N Combination SAE MJS1724ET051 MJS2024ET051
P/N Combination 12" Rod* N/A MJS2024ET551*
P/N Combination 18" Rod* N/A N/A
PIN Welded Yoke (2.25") N/A N/A
P/N Piggyback Plus Kit SAE MJS1724ET008 MJS2024ET008
P/N Combination METRIC MJS1724ET049 MJS2024ET049
Wt.Combination 20.321b (9.2kg) | 20.321b (9.2 kg)
Wt. Single 13.501b (6.1kg) | 13.50 b (6.1 kg)
A 10.69” (271.5 mm) | 10.69” (271.5 mm)
B 7.947(201.7 mm) | 7.94" (201.7 mm)
(0 6.86" (174.2mm) | 6.86" (174.2 mm)
D 6.76" (171.7 mm) | 6.76" (171.7 mm)
E 4.75" (120.7 mm)
F M16 x 1.5 - 6g
G 5/8” - 18 UNF (M16 x 1.5 - 6)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N's ending in MJSXXXXET651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

64



S-CAM/MJ3S

Performance Plus Long Stroke Model
Replacement Parts

PIN Series MJS1724ET MJS2024ET

Model MJS1724ET MJS2024ET
1 Kit - NP Chamber (a) 9015240 9015239
2 | Kit- Nuts & Bolts 9003001 9003001
3 Clamp Band Assembly 8216020 8216020
4 | Diaphragm 8017215 8017820
5 | Kit- Push-Rod Assembly (a) SAE 8264532 8264039
5a [ Kit - Push-Rod Assembly (a) METRIC 9064031 9064030
6 | Return Spring 8068021 8068021
7 | Kit - Center Hole Shield 9065003 9065003
8 | NP Chamber Assembly (a) 9015238 9015238

9 Kits - Nuts & Washers SAE N/A N/A

9a | Kit- Nuts & Washers METRIC 9002002 9002002
10 J Hex Nut - Yoke SAE 8130004 8130004
10a | Hex Nut- Yoke METRIC 8130016 8130016
11 | Kit - Breather Tube 9081001 9081001

12 | Kit- Piggyback Plus SAE MJS1724ET008 MJS2024ET008

OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.
— (b) Kit contains metric push-rod and mounting bolts.

CAUTION: The brakes listed on this page may have a diamond NPC. They
should not be mounted with the mounting bolt horizontal to the ground.

"

=
O
-
)
T~
o
~
>3
<
<
L))

— 12
[ -
——
™ '!\ Release Bolt
2 Patented “Dual Thread Release Bolt”

! \1 3 design, an MGM Brakes exclusive,
O_ 4 provides minimal bolt protrusion at

maximum release. (Approx. 1.25")
(31.8 mm) protrusion when manually
released)

=
<> |
-

7_

8_

? 3

w® 9a
¥ 1010a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

65
WWW.MGMBRAKES.COM




S-CAM/MJ3S

Long Stroke Model Performance Plus
Combination Piggyback Plus Kit
l D | VMRS# 013-004-000 VMRS# 013-004-001

MJS-ET 3.00” (76.2 mm) Model Features

m W Tamper Resistant Parking Chamber Design Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
1 4" | Epoxy Coated Steel Power Spring Head w/lIntegrated Release Bolt . Lighter/Compact/Low Profile Design
n 4/ | A360 Aluminum Center Case 4/ | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
> 1/' Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal J External Breather Tube
z v Epoxy Coated Return & Power Springs + ] 3in (76.2 mm) Long Stroke Increases Safety
\ 4" | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
3 P/N Series MJS2424ET MJS2430ET MJS3024ET
m Model MJS2424ET MJS2430ET MJS3024ET
q Size 2424 2430 3024
o Stroke (in/mm) 3.00" (76.2 mm) 3.00” (76.2 mm) 3.00” (76.2 mm)
P/N Combination SAE MJS2424ET051 MJS2430ET051 MJS3024ET051
z P/N Combination 12" Rod* MJS2424ET551* N/A MJS3024ET551*
P/N Combination 18" Rod* N/A N/A MJS3024ET651*
P/N Welded Yoke (2.25") MJS2424ET951 N/A MJS3024ET951
PIN Piggyback Plus Kit SAE MJS2424ET008 MJS2430ET008 MJS3024ET008
P/N Combination METRIC MJS2424ET049 MJS2430ET049 MJS3024ET049
Wt.Combination 20401b (9.3kg) | 23.701b (10.8kg) | 22.801Ib (10.3 kg)
Wt. Single 13.50 Ib (6.1 kg) 16.26 Ib (7.4 kg) 14.60 Ib (6.6 kg)
A 10.40" (264.2 mm) | 10.70” (271.8 mm) | 10.32" (262.1 mm)
B 7.94"(201.7 mm) | 843" (2141 mm) | 7.94"(201.7 mm)
C 748" (190.0 mm) | 7.48”(190.0 mm) | 8.32" (211.3 mm)
D 6.76" (171.7mm) | 7.51"(190.8 mm) | 6.76" (171.7 mm)
E 475" (120.7 mm)
F 5/8" - 11 UNC (M16 x 1.5 - 6g)
G 5/8” - 18 UNF (M16 x 1.5 - 6g)
Inlets

X - Min. (in the caged position)

WWW.MGMBRAKES.COM

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N's ending in MUSXXXXET651 have 3/4” push-rod.

66

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.



S-CAM/MJ3S

Performance Plus Long Stroke Model
Replacement Parts
PIN Series MJS2424ET | MJS2430ET | MJS3024ET
Model MJS2424ET | MJS2430ET | MJS3024ET
1 Kit - NP Chamber (a) 9015215 9015215 9015218
2 | Kit- Nuts & Bolts 9003001 9003001 9003001
3 | Clamp Band Assembly 8216025 8216025 8216045
4 | Diaphragm 8017424 8017926 8017830
5 | Kit- Push-Rod Assembly (a) SAE 9064006 9064006 9064008
5a | Kit - Push-Rod Assembly (a) METRIC 9064027 9064027 9064028
6 | Return Spring 8068022 8068022 8068022
7 ] Kit- Center Hole Shield 9065002 9065002 9065002
8 | NP Chamber Assembly (a) 9015213 9015213 9015122
9 | Kit- Nuts & Washers SAE 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002 9002002
10 ] Hex Nut- Yoke SAE 8130004 8130004 8130004
10a | Hex Nut - Yoke METRIC 8130016 8130016 8130016
11 | Kit - Breather Tube 9081001 9081001 9081001
12 Kit - Piggyback Plus SAE MJS2424ET008 || MJS2430ET008 | MJS3024ET008
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

“Roll-In” Tamper Resistant Design
Patented design permanently locks heavy-
gauge steel head to the rugged, non-corrosive
alloy A360 aluminum center case preventing
inadvertent disassembly of the power spring
&= housing.

=
O
-
)
T~
o
~
>3
<
<
L))

Welded Yoke Chamber

S

— 1 gL 2
=] "
—_ Y =2.25"
For more welded yoke choices,
see page 104-105
u —
o % e ]

| P -9
10M10a
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
67
WWW.MGMBRAKES.COM




S-CAM/MJS

Long Stroke Model Performance Plus
Combination Piggyback Plus Kit
D . VMRS#013-004-000 VMRS# 013-004-001

\ 4

< » G
MJS-ET 3.00” (76.2 mm) Model Features
m W Tamper Resistant Parking Chamber Design Corrosion Fighter Composite Spring Guide w/Type 30 & 36 Spring Side Models
1 4" | Epoxy Coated Steel Power Spring Head w/lIntegrated Release Bolt . Lighter/Compact/Low Profile Design
n 4/ | A360 Aluminum Center Case 4/ | Reinforced Non-Pressure Chamber Housing w/Welded Mounting Bolts
> 1/' Low Friction Internal Push-Rod Polymer Guide w/Nitrile Rubber Air Seal J External Breather Tube
z v Epoxy Coated Return & Power Springs + ] 3in (76.2 mm) Long Stroke Increases Safety
\ 4" | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield Heavy Duty Reinforced Diaphragms (Qil Resistant Options Available)
-U PIN Series MJS2030ET MJS3028ET MJS3030ET MJS3628ET* MJS3630ET*
b=l Model MJS2030ET MJS3028ET MJS3030ET MJS3628ET* MJS3630ET*
m Size 2030 3028 3030 3628 3630
4 Stroke (in/mm) 3.00” (76.2 mm) 3.00” (76.2 mm) 3.00” (76.2 mm) 3.00” (76.2 mm) 3.00” (76.2 mm)
o PIN Combination SAE MJS2030ET051 MJS3028ET051 MJS3030ET051 MJS3628ET051 MJS3630ET051
z PIN Combination 12" Rod* N/A MJS3028ET551* | MJS3030ET551* | MJS3628ET551 MJS3630ET551*
P/N Combination 18" Rod* N/A MJS3028ET651* | MJS3030ET651* N/A N/A
PIN Welded Yoke (2.25") N/A MJS3028ET951 MJS3030ET951 N/A MJS3630ET951
PIN Piggyback Plus Kit SAE MJS2030ET008 MJS3028ET008 MJS3030ET008 MJS3628ET008 MJS3630ET008
PIN Combination METRIC MJS2030ET049 MJS3028ET049 MJS3030ET049 MJS3628ET049 MJS3630ET049
Wt.Combination 22.701b (10.3kg) | 23.101b(10.5kg) | 23.101b(10.5kg) | 25.201b (11.4kg) | 25.201b (11.4 kg)
Wt. Single 14.90 Ib (6.8 kg) 14.92 b (6.8 kg) 14.92 |b (6.8 kg) 14.50 |b (6.6 kg) 14.50 |b (6.6 kg)
A 10.99" (279.1 mm) | 10.73"(272.5mm) | 10.73" (272.5mm) | 11.06" (280.9 mm) | 11.06” (280.9 mm)
B 8.32"(214.1 mm) | 843" (214.1mm) | 8.43"(214.1mm) | 843" (214.1 mm) 8.43" (214.1 mm)
(¢ 6.86" (174.2mm) | 8.32"(211.3mm) | 8.32"(211.3mm) | 9.40”(238.8 mm) 9.40” (238.8 mm)
D 7.50” (190.5mm) | 7.51"(190.8 mm) | 7.51"(190.8 mm) | 7.51"(190.8 mm) 7.517(190.8 mm)
E 475" (120.7 mm)
F 5/8”-11 UNC (M16 x 1.5 - 6g)
G 5/8" - 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8" - 18 NPTF (M16 x 1.5 - 6H)
X - Min. (in the caged position) 8.00” (203.2 mm)

WWW.MGMBRAKES.COM

68

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N's ending in MJSXXXXET651 have 3/4” push-rod.
** MJS3628ET & MJS3630ET not “3-inch long stroke” unit, readjustment limit 2.25” per MVM (Motor Vehicle Manufacturers Association)

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.




S-CAM/MJ3S

Performance Plus Long Stroke Model
Replacement Parts

PIN Series MJS2030ET MJS3028ET MJS3030ET | MJS3628ET** | MJS3630ET**

Model MJS2030ET MJS3028ET MJS3030ET | MJS3628ET** | MJS3630ET*
1 | Kit - NP Chamber (a) 9015239 9015218 9015218 9015109 9015109
2 | Kit- Nuts & Bolts 9003001 9003001 9003001 9003001 9003001
3 | Clamp Band Assembly 8216020 8216045 8216045 8216036 8216036
4 | Diaphragm 8017820 8017838 8017838 8017840 8017840
5 | Kit- Push-Rod Assembly (a) SAE 8264039 9064008 9064008 9064004 9064004
5a | Kit - Push-Rod Assembly (a) METRIC 9064030 9064028 9064028 9064009 9064009
6 | Return Spring 8068021 8068022 8068022 8068022 8068022
7 | Kit - Center Hole Shield 9065003 9065002 9065002 9065002 9065002
8 | NP Chamber Assembly (a) 9015238 9015122 9015122 9015108 9015108
9 ] Kit- Nuts & Washers SAE N/A 9002001 9002001 9002001 9002001
9a [ Kit- Nuts & Washers METRIC 9002002 9002002 9002002 9002002 9002002
10 | Hex Nut - Yoke SAE 8130004 8130004 8130004 8130004 8130004
10a | Hex Nut - Yoke METRIC 8130016 8130016 8130016 8130016 8130016
11 | Kit - Breather Tube 9081001 9081001 9081001 9081001 9081001

12 Kit - Piggyback Plus SAE MJS2030ET008 MJS3028ET008 MJS3030ET008 MJS3628ET008 § MJS3630ET008

OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.
**MJS3628ET & MJS3630ET not “3-inch long stroke” unit, readjustment limit 2.25” per MVMA (Motor Vehicle Manufacturers Association)

“Roll-In” Tamper Resistant Design
Patented design permanently locks heavy-
gauge steel head to the rugged, non-corrosive
alloy A360 aluminum center case preventing
inadvertent disassembly of the power spring
&= housing.

=
O
-
)
T~
o
~
>3
<
<
L))

NOTE: J-Series Type 30 Spring Side
has 490 Ibs. more force output than a

55 TR 36 Spring Side at 1.25” Stroke. (see
technical section for details)
% o 6
1 << |
=
E—— Y =2.25”

For more welded yoke choices,
see page 104-105

8_

o 9 9
% = 9/9a

10/10a

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

69
WWW.MGMBRAKES.COM




S-CAM/C

Standard Stroke Model

C

VMRS# 013-004-027

<
<

'

A

C Model Features

Epoxy Coated Formed Steel Pressure Cap & Non-Pressure Housing

Heavy-Duty Reinforced Diaphragms (il Resistant Options Available)

Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield

AN AN AN

Top & Side Air Ports - 3/8" NPTF

Sealed Service Chamber / No Clamp Band

SYIGWVHD FDIAYIS / NVI-S

PIN Series 1412 1416 1420 1427 1430 1436
Model c12 C16 20 c24L C30 C36
Size 12 16 20 2 30 36
Stroke 175" @45mm) | 225" 57.2mm) | 225 (57.2mm) | 250’ (635 mm) | 2.50"(63.5mm) | 3.00” (76.2 mm)
PIN SAE 1412001 1416001 1420001 1427001 1430001 1436001
PIN Combination 12” Rod* N/A N/A N/A 1427551* 1430551 N/A
PIN Combination 18” Rod* NIA N/A N/A NIA 1430651 N/A
PIN Neoprene Diaphragm N/A N/A 1420801 1427801 1430801 1436801
PIN Welded Yoke (2.25") N/A N/A N/A 1427901 1430901 N/A
PIN METRIC N/A N/A 1420202 1427202 1430202 1436202
Wt. Ib (kg) 3801 (1.7kg) | 5901b(27kg) | 8.021b(36kg) | 9.00b(4.1kg) | 10.701b (4.9kg) | 15.881b (7.2 kg)
A 384" (97.5mm) | 4.43" (1125 mm) | 4.16” (105.7 mm) | 4.42 (1123 mm) | 4.43" (1125 mm) | 5.12” (130.0 mm)
B 313" (79.5mm) | 3.64’ (161.0mm) | 3.41" (86.6 mm) | 3.677(93.2mm) | 369" (93.7mm) | 4.52” (114.8 mm)
c 569" (144.5 mm) | 6.66” (169.0 mm) | 6.92’ (175.8 mm) | 7.46” (189.5 mm) | 8.27” (210.0 mm) | 9.44” (240.0 mm)
D 3.00" (76.2mm) | 3.00" (76.2mm) | 4.75" (120.7 mm) | 4.75" (120.7 mm) | 4.75" (120.7 mm) | 4.75” (120.7 mm)
E 7/16”- 14 UNC 5/8” - 11 UNC (M16 x 1.5 - 6g)
F 112" - 20 UNF 5/8” - 18 UNF (M16 x 15 - 6g)
Inlets 3/8" - 18 NPTF 3/8- 18 NPTF (M16 x 1.5 - 6H)
X - Min. 4.00” (101.6 mm) 8.00” (203.2 mm)

WWW.MGMBRAKES.COM

70

* For Transit, Hendrickson Intraax/Vantraax Suspension applications. P/N’s ending in XXXX651 have 3/4” push-rod.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.




S-CAM/C

Standard Stroke Model
Replacement Parts
PIN Series 1412 1416 1420 1427 1430 1436
Model C12 C16 C20 C24L C30 C36
1 | Kit- NP Chamber (b) 9015207 9015136 9015046 N/A 9015050 9015049
2 | Kit- Nuts & Bolts 9003002 9003001 9003001 9003001 9003001 9003001
3 | Clamp Band Assembly 8216012 8216018 8216020 8216025 N/A 8216036
4 | Diaphragm 8017112 8017116 8017120 8017141 8017730 8017836
5 [ Kit- Push-Rod Assembly (b) SAE 9064018 9064019 9064001 9064002 9064003 9064004
5a | Kit - Push-Rod Assembly (b) METRIC N/A N/A 9064015 9064016 9064035 9064009
6 | Return Spring 8068007 8068008 8068002 8068002 8068002 8068012
7 | Kit- Center Hole Shield N/A N/A 9065002 9065002 9065002 9065002
8 | NP Chamber Assembly (b) 8215142 8215023 8215169 N/A 8215501 8215036
9 [ Kit- Nuts & Washers SAE 9002003 9002003 9002001 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC N/A N/A 9002002 9002002 9002002 9002002
10 ] Hex Nut- Yoke SAE 8130011 8130011 8130004 8130004 8130004 8130004
10a | Hex Nut- Yoke METRIC N/A N/A 8130016 8130016 8130016 8130016
11 | Pressure Cap (2-inlets/steel) 8010066(a) 8210013 8210010 8210002 8210003 8010009
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) Type 12 pressure cap is cast aluminum.
(b) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

S-CAM / SERVICE CHAMBERS

Center Hole Shiehi
55 Allows for visual inspection of stroke alert
a
while preventing entry of contaminants.
Welded Yoke Chamber
— 6
— 1 —
<<
L=.]
. 8 Y=225”
L =] [ = For more welded yoke choices,
b 9% see page 104-105
o 5
10/10a
NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

71
WWW.MGMBRAKES.COM



SYIGWVHD FDIAYIS / NVI-S

S-CAM/CL

Long Stroke Models

CL

VMRS# 013-004-027

»
’ o

A

C Model Features

Epoxy Coated Formed Steel Pressure Cap & Non-Pressure Housing

Heavy-Duty Reinforced Diaphragms (il Resistant Options Available)

Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield

AN AN AN

Top & Side Air Ports - 3/8" NPTF

Sealed Service Chamber / No Clamp Band

P/N Series 1418 1421 1428 1431
Model C16L2.5 C20L C24L3 C30L3
Size 16 20 24 30
Stroke 2.50” (63.5 mm) 2.50” (63.5 mm) 3.00” (76.2 mm) 3.00” (76.2 mm)
PIN SAE 1418001 1421001 1428001 1431001
P/N Neoprene Diaphragm N/A N/A 1428801 1431801
PIN Welded Yoke (2.25") N/A N/A 1428901 1431901
P/N METRIC N/A 1421202 1428202 1431202
Wt. b (kg) 6.421b (2.9 kg) 6.811b (3.1 kg) 9.72 b (4.4 kg) 10.76 Ib (4.9 kg)
A 460" (117.0mm) | 4.44"(112.8mm) | 5.30" (134.6 mm) | 5.317(134.9 mm)
B 3.87" (93.0 mm) 3.71" (94.3mm) 422" (107.0mm) | 4.36" (111.0 mm)
C 6.66" (169.0 mm) | 6.85" (174.0mm) | 7.37"(187.2mm) | 8.24"(209.3 mm)
D 3.00" (76.2 mm) 475" (120.7mm) | 4.75"(120.7mm) | 4.75"(120.7 mm)
E 7/16” - 14 UNC 5/8”- 11 UNC (M16 x 1.5 - 69)
F 1/2" - 20 UNF 5/8”- 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8" - NPTF 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X - Min. 4.00" (101.6 mm) 8.00” (203.2 mm)

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

72




S-CAM/CL

MGM

Long Stroke Models
Replacement Parts
PIN Series 1418 1421 1428 1431

Model C16L2.5 C20L C24L3 C30L3

1 | Kit- NP Chamber (a) 9015205 9015233 9015200 9015201

2 | Kit- Nuts & Bolts 9003001 9003001 9003001 9003001

3 | Clamp Band Assembly 8216018 8216020 8216025 8216045

4 | Diaphragm 8017216 8017220 8017924 8017830

5 | Kit - Push-Rod Assembly (a) SAE 9064022 9064020 9064006 9064008

5a | Kit - Push-Rod Assembly (a) METRIC N/A 9064015 9064027 9064028
6 | Return Spring 8068008 8068002 8068012 8068012

7 | Kit - Center Hole Shield N/A 9065002 9065002 9065002

8 | NP Chamber Assembly (a) 8215023 8215169 8215200 8215501

9 | Kit - Nuts & Washers SAE 9002003 9002001 9002001 9002001

9a | Kit - Nuts & Washers METRIC N/A 9002002 9002002 9002002
10 | Hex Nut- Yoke SAE 8130011 8130004 8130004 8130004
10a [ Hex Nut - Yoke METRIC N/A 8130016 8130016 8130016
11 | Pressure Cap (2-inlet/steel) 8210020 8210022 8210026 8210024

OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: (a) To ensure correct stroke alert positioning, these kits must be used only on the designated MGM Brake units.

2 Welded Yoke Chamber
—— e

S-CAM / SERVICE CHAMBERS

Y =2.25"

— 6 For more welded yoke choices,
see page 104-105
-

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

73

WWW.MGMBRAKES.COM



S-CAM/CS - Sealed Chambers

Long Stroke Models
CS CS Model Features
> C VMRS# 013-004-027
- — +/" | Epoxy Coated Formed Steel Pressure Cap & Non-Pressure Housing
- v Heavy-Duty Reinforced Diaphragms (Qil Resistant Options Available)
+" | Epoxy Coated External Piston Rod w/Stroke Alert and Stone Shield
A +/ | Top & Side Air Ports - 3/8" NPTF
B +/ | Sealed Service Chamber / No Clamp Band
=
m E
O
> PIN Series 1617 1621 1623 1627
Model CS16LH CS20L CS20L3 CS24L
z Size 16 20 20 24
~ Stroke 2.50" (63.5 mm) 2.50" (63.5 mm) 3.00" (76.2 mm) 2.50" (63.5 mm)
P/N SAE 1617001 1621001 1623001 1627001
m P/N Neoprene Diaphragm N/A N/A N/A N/A
m P/N Welded Yoke (2.25") 1617901 1621901 N/A N/A
w P/N METRIC 1617002 1621002 1623002 1627202
< Wt. b (kg) 6.621b (3.0 kg) 6.80 b (3.1 kg) 8.78 b (4.0 kg) 8.40 b (3.8 kg)
H A 4.37" (111.0 mm) 4.37" (111.0 mm) 5.14” (130.6 mm) 4.37" (111.0 mm)
n B 3.65" (93.0 mm) 374 (95.3mm) | 441" (112.0mm) | 3.63’ (92.3 mm)
I C 7.00"(177.8mm) | 7.00°(177.8mm) | 7.02° (1783 mm) | 7.31"(185.7 mm)
D 475" (1207 mm) | 475" (120.7mm) | 475 (1207 mm) | 4.75" (120.7mm)
n E 5/8" - 11 UNC (M16 x 1.5 - 6g)
: F 5/8" - 18 UNF (M16 x 1.5 - 6g)
Inlets 3/8" - 18 NPTF (M16 x 1.5 - 6H)
> X - Min. 8.00” (203.2 mm)
3 PIN Series 1628 1630 1631 1640
w Model CS24L3 CS30 CS30L3 CS24LW
m Size 24 30 30 2
w Stroke 3.00” (76.2 mm) 250" (63.5 mm) 3.00" (76.2 mm) 250" (63.5 mm)
m P/IN SAE 1628001 1630001 1631001 1640001
P/N Neoprene Diaphragm N/A N/A 1631801 N/A
P/N Welded Yoke (2.25") 1628901 1630901 1631901 N/A
P/N METRIC N/A 1630202 1631202 1640202
W. Ib (kg) 9.10Ib (4.1 kg) 10.12 b (4.6 kg) 10.55 b (4.8 kg) 8.66 Ib (3.9 kg)
A 5.30" (134.6 mm) 439" (111.5m) 531" (134.9mm) | 4.37"(111.0 mm)
B 4.16” (105.6 mm) 3.67”(93.2 mm) 417" (106.0 mm) 3.63"(92.3 mm)
c 7.31"(185.7mm) | 8.18"(207.8mm) | 8.18" (207.8 mm) | 7.31"(185.7 mm)
D 475" (1207 mm) | 475" (1207 mm) | 4.75"(120.7mm) | 4.75" (120.7mm)
E 5/8"-11 UNC (M16 x 1.5 - 69)
F 5/8”- 18 UNF (M16x 1.5 - 6g)
Inlets 3/8”- 18 NPTF (M16 x 1.5 - 6H)
X - Min. 8.00" (203.2 mm)

WWW.MGMBRAKES.COM

74

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.




S-CAM/CS - Sealed Chambers

Long Stroke Models
Replacement Parts
P/IN Series 1617 1621 1623 1627 1628 1630 1631 1640
Model CS16LH CS20L CS20L3 CS24L CS24L3 CS30 CS30L3 CS24LW
1 | Kit- NP Chamber (a) N/A N/A N/A N/A N/A N/A N/A N/A
2 | Kit - Nuts & Bolts N/A N/A N/A N/A N/A N/A N/A N/A
3 | Clamp Band Assembly N/A N/A N/A N/A N/A N/A N/A N/A
4 | Diaphragm N/A N/A N/A N/A N/A N/A N/A N/A
5 | Kit- Push-Rod Assembly (a) SAE N/A N/A N/A N/A N/A N/A N/A N/A
5a [ Kit - Push-Rod Assembly (a) METRIC N/A N/A N/A N/A N/A N/A N/A N/A
6 | Return Spring N/A N/A N/A N/A N/A N/A N/A N/A
7 | Kit- Center Hole Shield N/A N/A N/A N/A N/A N/A N/A N/A
8 | NP Chamber Assembly (a) N/A N/A N/A N/A N/A N/A N/A N/A
9 | Kit- Nuts & Washers SAE 9002001 9002001 9002001 9002001 9002001 9002001 9002001 9002001
9a | Kit- Nuts & Washers METRIC 9002002 9002002 9002002 9002002 9002002 9002002 9002002 9002002
10 | Hex Nut- Yoke SAE 8130004 8130004 8130004 8130004 8130004 8130004 | 8130004 8130004
10a | Hex Nut - Yoke METRIC 8130016 8130016 8130016 8130016 8130016 8130016 8130016 8130016
11 | Pressure Cap (2-inlet/steel) N/A N/A N/A N/A N/A N/A N/A N/A
OPTIONAL ITEMS - For additional replacement parts, refer to Section 9
Yoke Assembly For additional replacement parts, refer to Section 9
Boot & Retainer For additional replacement parts, refer to Section 9

NOTE: All CS models are sealed assemblies, non-serviceable, therefore replacement kits are not available.

Welded Yoke Chamber

1

S-CAM / SERVICE CHAMBERS

-
- :|»9/9a Y=225"

L
¢ N
10/10a For more welded yoke choices,

see page 104-105

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

75

WWW.MGMBRAKES.COM



¥ ED IS E

BIRANES

NEWRIESIHITH
DELETETI OTITETICER
Sz Halizgilisy e ucility




Section 2: Wedge Spring Brakes..........cccccovvveviieiccvecceccecen, 76-83
Standard Stroke Models

Ccw Service Chambers, WEAGE ........vvueiieieese e 78-79
MJW1216 Magnum Performance PIUS, WEAGE .........ccvuriirnieiriireeeee e 80-81
MJW1616 Magnum Performance Plus, WEAGE ..........ccvirnieriieiereese e 80-81
MJW1624 Magnum Performance Plus, WEAGE .........ccueirnieiriieieeeee s 82-83

The US Military has relied heavily on MGM Wedge brakes for their MRAP and MATV vehicles. They are
desirable for this application because there is no exposed brake linkage. Two brake actuators can be mounted
per wheel end to meet the high force outputs needed to stop today’s up-armored vehicles. Packaging is quite
compact. Wedge brakes can be mounted on the wheel ends of fully articulated axles. Water tight snorkeled
versions are available to meet military fording requirements.

We offer type 9, 12 & 16 service chambers in vented and snorkeled versions. Aluminum pressure caps are
available for the type 9 and type 12 service chambers. These reduce vehicle weight by about %2 Ib. per actuator
vs. a steel cap.

We offer type 1216, 1616, and 1624 wedge parking brakes. These feature “Magnum” piston type brakes which
are well suited to demanding parking and vehicle holding situations. When hauling maximum payloads through
mountainous terrain or when quick release at low pressure is important, a “Magnum” is your best choice. These
brakes deliver much higher force output per unit volume than a comparable double diaphragm brake. These
also feature the MGM patented dual-thread release bolt design, allowing the MJW Model to fit into tight areas
where other spring brakes can’t due to protrusion of the release bolt.

Wedge brakes come in a number of different tube lengths. They also have two rod styles, Meritor (with a red
guide) and Bendix. Brakes can be custom configured for OEMs.

The MUW1624BT156 is a brake that was specially designed for a bus application. It has a unique rod insertion
depth that should not be used in a standard application.

CwW MJW

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

77



CW (shown with single port) CW Medlel Feafures
VMRS# 013-010-034
+" | Formed Steel Non-Pressure Chamber - Epoxy Coated
+# | Heavy-Duty Nylon Reinforced Diaphragms
+/ | Top and Side Air Ports - 3/8" NPTF
Wedge Piston Assembly
Meritor  Bendix
\\ _
< c >
NOTE: i(h-allr?:lr)rw;rlzfgbzfgzennng tube is measured from bottom flat on non-pressure Ordering: Determine if foundation brake is
Meritor or Bendix type by comparison to piston
assembly photos above.
PIN Series 1009 1012 1016
Model CwW9 CW12 CW16
Size 9 12 16
Stroke 1.75" (44.5 mm) 1.75" (44.5 mm) 1.75" (44.5 mm)
Wt. (Ib/kg)* 3.531b (1.6 kg) 3.811b (1.7 kg) 4.90 Ib. (2.2 kg)
A 2.97" (75.4 mm) 3.10” (78.7 mm) 2.85" (72.4 mm)
B 242" (61.5 mm) 2.39" (60.7 mm) 2.62" (66.5 mm)
c 5.25" (133.4 mm) 5.69” (144.5 mm) 6.59" (167.4 mm)
E 13/4"-12 UN-2A 13/4” - 12 UN-2A 1.3/4”- 12 UN-2A
Inlets 3/8"- 18 NPTF 3/8”- 18 NPTF 3/8"- 18 NPTF
NOTE: * Weight will vary in relation to tube length.
CW Service Brake Chamber
Size Type 9 Type 12 Type 16
Stroke 1.75" (44.5 mm) 1.75" (44.5 mm) 1.75" (44.5 mm)
“X” DIM Meritor Bendix Meritor Bendix Meritor Bendix
2.25" (57.2 mm) 1009018 1009012 1012008 1012009 1016004 1016001
2.85" (72.4 mm) * 1009020 1012001 1012004 1016003 1016005
3.75” (95.3 mm) * * * 1012097 * 1016019
4.10" (104.1 mm) 1009032 1009021 1012002 1012048 1016006 *
4.56” (115.8 mm) * * 1012066 * * *
6.10” (154.9 mm) 1009053 1009022 1012057 1012049 1016017 *
7.56” (192.0 mm) * * 1012058 * * *
8.75” (222.3 mm) 1009049 * 1012007 * * *
10.19” (258.8 mm) * * 1012003 1012006 1016020 *
12.00” (304.8 mm) * * 1012096 * 1016011 *
14.00” (355.6mm) * * 1012056 1012052 * *

NOTE: (*) This chamber version is not available.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

78



CW Chamber Service Kits

Size Type 9 Type 12 Type 16
Stroke 1.75" (44.5 mm) 1.75" (44.5 mm) 1.75" (44.5 mm)
“X” DIM Meritor Bendix Meritor Bendix Meritor Bendix
2.25" (57.2 mm) 9015040 9015001 9015003 9015002 9015042 9015041
2.85" (72.4 mm) 9015005 9015004 9015007 9015006 9015044 9015043
3.75" (95.3 mm) * * * 9015134 * 9015095
4.10” (104.1 mm) 9015009 9015008 9015011 9015010 9015059 *
4.56" (115.8 mm) * * 9015013 * * *
6.10” (154.9 mm) * * 9015019 9015018 9015096 *
7.56" (192.0 mm) * * 9015045 * * *
8.75" (222.3 mm) * * 9015022 * * *
10.19” (258.8 mm) * ¢ 9015026 9015025 9015140 *
12.00” (304.8 mm) * * 9015102 * 9015094 *
14.00” (355.6mm) * * 9015031 9015030 * *
NOTE: (*) This version is not available.
Replacement Parts
— PIN Series 1009 1012 1016
Model CW9 CW12 CW16
1 Kit - NP Chamber Refer to wedge chamber service kits above
2 Kit - Nuts & Bolts 9003002 9003002 9003001
3 Clamp Band Assembly 8216009 8216012 8216018
4 Diaphragm (a) (a) (a)
5 Kit - Push-Rod Assembly (a) (a) (a)
6 Kit- Wedge Boot 9004005 9004005 9004005
7 NP Chamber Assembly (a) (a) (a)
8 Spanner Nut 8034007 8034007 8034007
9 | Wedge Guide - Meritor 8024006 8024006 8024006
10 | Pressure Cap (1 Inlet) N/A 8010040 8210001
10a | Pressure Cap (2 Inlets) 8010028 8010066 8210013

« For additional replacement parts, refer to Section 9.

NOTE: (a) Diaphragm is glued to push-rod plate, therefore diaphragm and push-rod assembly are available only as
part of item 1 kit.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

79




1.75” (44.5 mm) Stroke Model

NOTE: (a) Refer to “Standard Assembly Part Numbers Chart” for mounting tube length variations.

NOTE: (*) Unit weighed with 5” (127.0 mm) tube (x dimension). Weight will vary in relation to tube length.

Combination Piggyback Plus Kit
VMRS# 013-010-034
b A
B N/A
A
Y
— E
MJW Model Feeatures
+ Lightweight, Rugged Aluminum Housing ™ Polymer Push-Rod Guide
+ Epoxy Coated Power Spring + Molded Nitrile Rubber Push-Rod Air Seal
-q' External Breather Tube -«" Low Friction Piston and Guide
+ Integral Release Bolt ' Heavy-Duty Nylon Reinforced Diaphragm
PIN Series MJW1216AT MJW1616AT Standard Assembly Part Numbers
Model MJW1216AT MJW1616AT Model MJW1216AT
Size 1216 1616 Size MIW1216
Stroke 175" (44.5 mm) 175" (44.5 mm) e o P—
Push-Rod Meritor / Bendix Meritor / Bendix 2.25' (57.2 mm) MIW1216ATO52 MJW1216AT059
PN Combination SAF @ @ 285 (724mm) | MJW1216AT053 MJW1216AT060
PIN Piggyback Plus Kit SAE N/A N/A 4.0 (104.1 mm) MJW1216AT054 MJW1216AT061
PIN Combination METRIC 6.10 (154.9 mm) MJW1216AT055 MJW1216AT062
Wt.Combination 12,50 Ib (5.7 kg)* 12.16 Ib (5.5 kg)*
Wt Single NA N/A Model MJW1616AT
A 7.89" (200.4 mm) 7.15” (181.6 mm) oo MW 1616
B 5.83 (148.1 mm) 5.98" (151.9 mm) X Dimension Meritor Bendix
c 5.70" (144.8 mm) 6.59" (167.4 mm) 225 (57 2mm) A A
D 6.4 (163.6 mm) 647" (164.2 mm) 2.85" (72.4mm) MJW1616AT051 MJW1616AT056
E 13/4"-12 UNC 13/4"-12 UNC 4.0 (104.1 mm) N/A N/A
Inlets 3/8" - 18 NPTF 3/8” - 18 NPTF 6.10" (154.9 mm) N/A N/A
X(a) SEE CHART SEE CHART

NOTE: (***) For information on availability, contact MGM Brakes Customer Service, 1-800-527-1534 (U.S. and Canada), or for International email: mail@mgmbrakes.com.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

80




1.75" (44.5 mm) Stroke Model

Replacement Parts

PIN Series MJW1216AT MJW1616AT
Model MJW1216AT MJW1616AT
Part Description MGM P/IN MGM P/N

1 Kit - Breather Tube 9081001 b

2 Kit - Nuts & Bolts 9003002 9003001

3 Clamp Band Assembly 8216012 8216018

4 Diaphragm (a) (a)

5 Push Rod (a) (a)

6 Kit - Wedge Boot 9004005 9004005

7 Spanner Nut 8034007 8034007

8 Wedge Guide (Meritor) 8024006 8024006

9 Kit - NP Chamber Refer to Wedge Chamber service kits below (a) b

NOTE: (a) Diaphragm is glued to push-rod plate, therefore diaphragm and push-rod assembly are available only as part of item 9 kit.
NOTE: (***) For information on availability, contact MGM Brakes Customer Service, 1-800-527-1534 (U.S. and Canada), or for International email: mail@mgmbrakes.com.
For additional replacement parts, refer to Replacement Parts Section 9.

Standard Service Kits
Type MJW1216AT
Stroke 1.75" (44.5 mm)

X Dimension Meritor Bendix
2.25” (57.2 mm) 9015247 9015254
2.85" (72.4mm) 9015248 9015255

4.10” (104.1 mm) 9015249 9015256
6.10" (154.9 mm) 9015250 9015257

Rel Bolt
Patented “Dual Thread Release Bolt”
design, an MGM Brakes exclusive,
provides minimal bolt protrusion at
maximum release. (Approx. 1.00 inch
(25.4 mm) protrusion when manually
released)

Wedge Piston Assembly
Meritor  Bendix

o —’
E  —

Ordering: Determine if foundation brake is
Meritor or Bendix type by comparison to piston
assembly photos above.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

81



2.00” (50.8 mm) Stroke Model MJW1624BT Model
Combination Piggyback Plus Kit
VMRS# 013-010-034
A A
B
A
\
\J
MJW Model Feeatures
-qi' Tamper Resistant Design J Increased Corrosion Resistance - Steel Head and Epoxy Coated
+ Epoxy Coated Power Spring + Molded Nitrile Rubber Push-Rod Air Seal
-!)' External Breather Tube 'V' Low Friction Piston and Guide
+f Patented Integral Release Bolt + Heavy-Duty Nylon Reinforced Diaphragm
-f Lightweight + Lower Hold-Off Pressure (Less Air Consumption)
PIN Series MJW1624BT
Model MJW1624BT
Size 1624
Stroke 2.00” (50.8 mm)
P/N Combination SAE MJW1624BT156
PIN Piggyback Plus Kit SAE N/A

P/N Combination METRIC

ko

Wt.Combination 17.06 Ib (7.7 kg)
Wt. Single N/A
A 8.30” (210.8 mm)
B 7.16” (181.9 mm)
C 6.53" (165.9 mm)
D 6.76” (171.7 mm)
E 13/4”-12 UNC
Inlets 3/8" - 18 NPTF
X 4.50” (114.3 mm)

Release Bolt
Patented “Dual Thread Release Bolt” design, an
MGM Brakes exclusive, provides minimal bolt

protrusion at maximum release. (Approx. 1.00 inch

(25.4 mm) protrusion when manually released)

NOTE: (***) For information on availability, contact MGM Brakes Customer Service, 1-800-527-1534 (U.S. and Canada), or for International email: mail@mgmbrakes.com

Ax CAUTION: MGM Brakes recommends this chamber be supported. The vehicle manufacturer will
need to determine if a support is necessary based on the vehicle operating environment.

P/N MJW1624BT156 is for transit applications only. For other applications contact MGM Brakes
Customer Service.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

82



MJW1624BT Model

Replacement Parts
PIN Series MJW1624BT
Model MJW1624BT
Part Description MGM P/IN
1 Kit - Breather Tube 9081007
2 Kit - Nuts & Bolts 9003001
3 Clamp Band Assembly 8216018
4 Diaphragm (a)
5 Push Rod (a)
6 Kit - Wedge Boot 9004005
7 Collet Nut 8034007
8 Wedge Guide 8024006
9 Kit - NP Chamber 9015196

NOTE: (a) Diaphragm is glued to push-rod plate, therefore diaphragm and push-rod assembly are available only as part of item 9 kit.

For additional replacement parts, refer to Replacement Parts Section 9.

j::‘_\
l /

‘&
T
*

-9

—>

(&

Rl

CAUTION: MGM Brakes recommends this chamber be supported. The vehicle manufacturer will
need to determine if a support is necessary based on the vehicle operating environment.

P/N MJW1624BT156 is for transit applications only. For other applications contact MGM Brakes
Customer Service.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

83

2.00” (50.8 mm) ) Stroke Model




AR DISC

UNPEI1IEIEd WVATIETYIOTIVIOUE]S!
RE11d01EENU O GETEIATE
BIdKINY L ETTOTINENCE




SECTION 3

Page(s)
Section 3: AiIr DISC BrakesS .......oooeeeeeeeeeeeeeee e, 84-89
Service Chambers
CSB Service Chambers, SEAIB............oeieece ettt et n e 86
Double Diaphragm
TRB Tamper ReSIStANT, TUDE. ..o bbbt 87
Piston Diaphragm
MJB Magnum, J-Series, 2.50” (63.5 mm) Stroke, TUDE .........coovieriirereeceeesee e 88
Visual Safety Inspections 0f Air DISC BraKes ............cuuvieiriiiiiiieeiiseei st 89

O
W
]
o
a4
-
<

CSB TRB MJB

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.
85
WWW.MGMBRAKES.COM




AIR DISC/CSB

Air Disc Model
CSB Model Features
C SB +/" | Epoxy Coated Formed Steel Pressure Cap & Non-Pressure Housing
+/ | Heavy-Duty Reinforced Diaphragms (Oil Resistant Options Available)
+” | Epoxy Coated or Optional Stainless Steel Piston Rod
+/ | Sealed Service Chamber/No Clamp Band
+/ | Top & Side Air Ports - 3/8” NPTF or M16 x 1.5
+/ | Optional 3" (76.2 mm) Long Stroke w/Select Models
A
XB
> Model CSB16D CSB18D CSB20D CSB22D CSB24D
H Size* 16 18 20 22 24
w Stroke 2.50" (63.5 mm) 2.50" (63.5 mm) 2.50" (63.5 mm) 2.50" (63.5 mm) 2.50" (63.5 mm)
Part Number SAE CSB16D051 CSB18D051 CSB20D051 CSB22D051 CSB24D051
U Part Number Metric CSB16D049 CSB18D049 CSB20D049 CSB22D049 CSB24D049
[ W, Ib. (kg) 6.51b (2.9 kg) 6.81b (3.1 kg) 7.0 1b (3.2 kg) 7.7 b (3.5kg) 7.9 b (3.6 kg)
m A 4.84" (122.9 mm) 4.84" (122.9 mm) 4.84" (122.9 mm) 4.86" (123.4 mm) 4.86" (123.4 mm)
n B 6.99" (177.5 mm) 6.99" (177.5 mm) 6.99" (177.5 mm) 7.31" (185.7 mm) 7.31" (185.7 mm)
c 4.75" (120.7 mm)
D M16 x 1.5 - 69
Ports 3/8" -18 NPTF for SAE model (M16 x 1.5 - 6H for metric model)
Port angle 90° from centerline of mtg. bolts
XB 15 mm

NOTE: All chart measurements are in both inches and metric.

* Other sizes available. Call 1-800-527-1534.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

WWW.MGMBRAKES.COM

86




AIR DISC/TRB

Air Disc Model

Double Diaphragm Air Disc
Brake Features

Combination

Tamper Resistant Parking Chamber Design

B |

Epoxy Coated Steel Parking Spring Head w/Weatherseal Plug
A360 Aluminum Center Case

Low Friction Internal Push-Rod w/Polymer Guide
wiNitrile Rubber Air Seal

Epoxy Coated Return & Power Springs

Epoxy Coated 8-Gauge Heavy-Duty Steel Non-Pressure Chamber
(Type 30 Models are 6 Gauge)

External Breather Tube
Air Ports - 3/8” NPTF or M16 x 1.5
Epoxy Coated or Optional Stainless Piston Rod

Optional 3" Long Stroke w/Select Models

Heavy-Duty Reinforced Diaphragms
(Oil Resistant Options Available)

Center Hole Diaphragms w/Type 30 Spring Side Models

Al S ISNAIAIA] A A S IRSS

Model

TRB1624DT

TRB1824DT

TRB2024DT

TRB2224DT

TRB2424DT

TRB2430DT

Size*

1624

1824

2024

2224

2424

2430

Stroke

2.50" (63.5 mm)

2.50" (63.5 mm)

2.50" (63.5 mm)

2.50" (63.5 mm)

2.50" (63.5 mm)

2.50" (63.5 mm)

Part Number SAE

TRB1624DT051

TRB1824DT051

TRB2024DT051

TRB2224DT051

TRB2424DT051

TRB2430DT051

Part Number Metric

TRB1624DT049

TRB1824DT049

TRB2024DT049

TRB2224DT049

TRB2424DT049

TRB2430DT049

W, Ib. (kg)

15.61b (7.1 kg)

15.81b (7.02 kg)

16.01b (7.3 kg)

16.31b (7.4 kg)

16.51b (7.5 kg)

16.51b (7.5 kg)

8.81" (223.8 mm)

8.81” (223.8 mm)

8.81” (223.8 mm)

9.04" (229.7 mm)

9.04" (229.7 mm)

9.61” (244.1 mm)

7.34" (186.4 mm)

7.34" (186.4 mm)

7.34" (186.4 mm)

7.34" (186.4 mm)

7.34" (186.4 mm)

8.21 (208.5 mm)

6.85" (174.0 mm)

6.85" (174.0 mm)

6.85" (174.0 mm)

7.46" (189.5 mm)

7.46" (189.5 mm)

7.46” (189.5 mm)

4.75" (120.7 mm)

mIojoj|w]>

M16 x 15 - 6g

Ports

3/8" -18 NPTF for SAE model (M16 x 1.5 - 6H for metric model)

Port angle

90° from centerline of mtg. bolts

Tube angle

90° from centerline of mtg. bolts

XB

15 mm (591 in)

* Other sizes available. Call 1-800-527-1534.

NOTE: All chart measurements are in both inches and metric.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

87

WWW.MGMBRAKES.COM

O
W
]
o
a4
-
<




AIR DISC/MJB

Air Disc Model
Magnum Performance Plus
Model Features
Com b| nation +" | Tamper Resistant Parking Chamber Design
v Epoxy Coated Steel Power Spring Head w/ntegrated Parking
Spring Release Bolt
+/ | A360 Aluminum Center Case
v Low Friction Internal Push-Rod Polymer Guide with Polymer Guide
w/Nitrile Rubber Air Seal
+" | Epoxy Coated Return & Power Springs
v Epoxy Coated 8 Gauge Heavy-Duty Steel Non-Pressure Chamber
(Type 30 Models are 6 Gauge)
+" | Epoxy Coated or Optional Stainless Piston Rod
+" | Air Ports - 3/8” NPTF or M16 x 1.5
' Heavy-Duty Reinforced Diaphragms (Oil Resistant Options Available)
+” | External Breather Tube
+ | Optional 3” Long Stroke w/Select Models
+/ | Lighter/Compact/Low Profile Design
+” | Lower Hold-Off Pressure Reduces Air Consumption
+/ | 6 Year Limited Warranty
>
H Model MJB1624DT MJB1824DT MJB2024DT MJB2224DT MJB2424DT
w Size* 1624 1824 2024 2224 2424
Stroke 2.50" (63.5 mm) 2.50" (63.5 mm) 2.50" (63.5 mm) 2.50" (63.5 mm) 2.50" (63.5 mm)
U Part Number SAE MJB1624DT051 MJB1824DT051 MJB2024DT051 MJB2224DT751 MJB2424DT751
H Part Number Metric MJB1624DT049 MJB1824DT049 MJB2024DT049 MJB2224DT049 MJB2424DT049
m W, Ib. (kg) 18.6 Ib (8.5 kg) 18.8 Ib (8.6 kg) 19.0 Ib (8.67 k) 19.31b (8.8 kg) 19.51b (8.9 kg)
n A 9.84" (249.9 mm) 9.84" (249.9 mm) 9.84" (249.9 mm) 9.88" (250.9 mm) 9.88" (250.9 mm)
B 6.74" (171.2 mm) 6.74" (171.2 mm) 6.74" (171.2 mm) 6.74" (171.2 mm) 6.74" (171.2 mm)
c 6.87" (174.5 mm) 6.87" (174.5 mm) 6.87" (174.5 mm) 7.38" (187.5 mm) 7.38" (187.5 mm)
D 475" (120.7 mm)
E M16 x 1.5 - 69
Ports 3/8" -18 NPTF for SAE model (M16 x 1.5 - 6H for metric model)
Port angle 90° from centerline of mtg. bolts
Tube angle 90° from centerline of mtg. bolts
XB 15 mm

NOTE: All chart measurements are in both inches and metric.
* Other sizes available. Call 1-800-527-1534.

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

88
WWW.MGMBRAKES.COM




VISUAL SAFETY INSPECTIONS
Air Disc Model

Air Disc Brakes and Visual Safety Inspections

While air disc brakes offer performance and potential maintenance advantages, they are also much more
difficult to visually inspect for proper operation. Air disc brakes include a brake actuator with a fully enclosed
push-rod, a brake caliper with an internal adjuster mechanism, a rotor, and brake pads. This type of braking
system poses unique challenges to the fleet in terms of visual brake inspections. There is no exposed
push-rod in order to check actuator stroke, and the internal adjuster mechanism (designed to keep pad
clearance constant like an Automatic Brake Adjuster (ABA) on s-cam systems), is fully enclosed, sealed, and
not possible to visually inspect. In addition, the pads and outboard rotor face are nearly hidden from view
making it difficult to check pads or rotor conditions visually, without wheel removal for subsequent detailed
inspections. The industry has long known that a visual inspection of air disc brakes for proper operation

is impractical, and this has been acknowledged by CVSA as a concern. Thus with air disc brakes the fleet
operator does not truly know with a visual inspection any of the following:

. The brake actuator (or brake chamber) is operative

. The caliper internal adjuster is operative and maintaining pad clearance under all conditions

. The wheel end is providing full braking, partial braking, or no braking U
. The brake actuator (or brake chamber) stroke is within acceptable operating limits ﬂ
. The brake is lightly dragging (warning of other serious problems) S
Based on this industry need, MGM Brakes has developed Electronic Brake Monitoring (esSTROKE®) for air =
disc brake applications. Please see Section 7 of this catalog for further information or call your local MGM <

Brakes sales representative who can be found by visiting our website www.MGMBRAKES.com

Spring Loaded
Push-Rod
(Caliper Lever
Arm Debection )

NOTE: Product information and specifications subject to change without notice. Refer to the MGM Brakes website for latest updated information.

89
WWW.MGMBRAKES.COM




BRENDTE
m o YN
LINDERS

Hdrid..l For Hamala Yuaraion
+ of Trallar Tallegaiss




SECTION 4
Page(s)
Section 4: Remote Mount Cylinders.........cccocevvveiveiiiciniciceecns 90-95
R4A REMOLE CYIINABT ... ..cviviieieiece ettt bbb 92-93
R5AHD Remote Cylinder, HEavy-DULY ..........cccccviiiireieieiiccee ettt 92-93
R7A (SAAR) Remote Cylinder, Spring Applied, Air REIEASEA .........ccovvevrieeiccee e 94
NAVISTAR RTA &RBH SEIVICE PAITS.........vvvuriruririiieiiicniesisesi s 95

R4A

MGM Brakes R4A & R5AHD Remote Mount Cylinders are the original spring brakes invented in the rugged logging country of Northern
California. These cylinders were introduced by MGM Brakes in 1956 as the world’s first spring-actuated parking and emergency brake
actuators for commercial vehicles. These “pull-to-actuate” cylinders were originally designed for axle-mount using various weld-on and

bolt-on mounting brackets and linkage arms.

R7A (SAAR) and R8H (SAHR) drive-line brakes were developed as replacements for manually operated lever applied “drive-line”
brakes. Mounted to the frame rail, the actuator utilizes a cable to apply parking force to a drum mounted brake on the drive-line axle.

Today, these high-quality cylinders have bee